pump for all, all for pump

Uil & Grease

- Lubrication
Centralized Oil Lubrication system é}.ﬁm—__ﬂb 2%
Auto lubrication pumps C100 3% lf Xy :
Manual lubrication pumps

Air-Oil lubrication pumps
Distributors

KSQ9001:2009/1509001:2008

Centralized Grease Lubrication system
Manual grease pump

Air grease pump

Electronic grease pump

MEMOLUB grease pump

Distributors

A-RYUNG
=

. A-RYUNG

- www.aryung.co.kr
AR2013-AMGP&AGP-EK1



Oil Lubrication
pUMPS 6e-47p

Technical data

3 Resistive Oil supply system

4 Measuring Oil supply system

5 Measurement of oil supply

6 Description of main function & Viscosity

Auto Type

7 AMGP-01A Series
10 AMGP-01M Series
12 AMGP-01S Series
14 AMGP-013(F)/015(F) Series
16 AMGP-025N Series
18 AMGP-**NS Series
20 AMGP-200NS Series
22 AMGP-0TN/02N Series
24 AMGP-03/05 Series
26 AMGP-03C/05C Series
28 AMGP-053 Series

Manual Type

29 ALP-8LF Series
30 ALP-7LH Series

Distributors

31 DB Series

32 AR-B Series

33 PVO Series

34 ARD-340/350 Series

36 AJB, ASA Series

Oil Reservoir
37 Oil Reservoir

Accessories & Fitting

39 Accessories
40 Fitting

Oil Mist Lubrication (Air+0il Mist)
[AA AOML-3000 Series

46 AOL 4 Series
47 ARD-440 Series

CONTENTS

Grease Lubrication
PUMPS  (48p-61p)

Electronic Drive Type
48 AGP-15 Series

Manual Type
51 AHGP-700 Series

Air Drive Type
52 AGP-720 Series

MEMOLUB Cartridge Type
54 HPS Series

Distributors
57 ARU-R Series

Accessories

59 Accessories

Changing the cartridge
60 Changing the cartridge




Resistive oil supply systems X&kH]|z]) Al

B XS AIAE“OEL HlgAl Wyt Qlom mWIpM 22E QUs 2t
EHEHO| ZEH = Flow unit2 MES LAAI7 XjEle| & efof 9

ol RUS H|2| E= A6l Sachs AIAZOICE

m 7t EETO| RER Hmo| B2 HizsiH O R 2iH
2% a2 Skl =t

mjo

Sl

B Flow unit (Code No. 03 ~ 4)= =2tiHt =8lEl= AJB EIRDE 27
ThA0] H2&El= ASA EIRO| AUeH 2I9iE Code HS2| APt 50

=0l w2t of 2H2| HIEZ /20| S7BI=S =lo] Tk

Oil Lubrication pumps
Technical data

m The resistive system have two types of measuring system pump. This
system is to lubricate every point by controlling port of distributor or
resistance of flow unit with proportion or adjusting much or less of
the oil.

m The discharge volume of each outlet is proportional and distributes
each point through the installing distributor.

m The flow unit (Code No. 03 ~ 4) have two types of AJB type combined
distributor and ASA type attached every lubricating ports. The code
number increasing on the fittings increases the discharge volume two
times.

D1AF)-T1.8 DIM(FI-T1.8 // //
BN YA SR— . ¥
\ \

. ' |
TD-4

015(F)-T1.8 013(F/01B(F)

O1A(F)-TO3

ol L i
[ = —_— %

ALF 8LF

@6 2t
@4 Foh
@4 2t

DIM(F)-TO3

ASA
2] P
- Ll
Ll

s

e
=
-

TN-4

ASA

>

[ R

[ LT

ﬁoﬁ — . L
\

Wems e

e ——— . L]

c O Www.aryung.co.kr 2+ 3 .




oo

Measuring oil supply systems &2

(o)
2A TR WA

" Y RTIR AAHS YT HY Bt 35101 AISEIDY
2

O WAL MmOl E5E RERS BN Fa AR

A0 LB BB wApICE

S R=E

B FE BHitHo] EEZE2 Adjust NippleOll 2lot ZFTIH Adjust
NippleOfl 2lefE Ha7t 245 EE& RER &7t =tk

B M2 2HiHDE ZE6IH Aot | fleid=
EEE(00} ot Hmo| S22 7IEXoZ SXlof 5iCt W=ot
OF &EE|X| 2
SO | IS S22 &

B HIE 7HINOZ AFAF7| Ploiis EHE

HIol| 23|

Xixpl HES

EtO} HHEIj}

=-d =

27t LiE

HEE MEsIHLE 7|AEL| THES2{2t HEoI0 AlSatoFett,

2Ie

pio Aoz FAGHAl TIH 2LHe| 12| HhXX| pot
XS & 4 glog 2 EE0| 0|20 X|X| =ttt

=l

m The measuring lubrication system should be used with measuring
pump and distributors. This system lubricates to the points by
measuring setting discharge volume.

m The volume is decided adjusting nipples, and the amount of
lubrication is increased by nipple number increasing.

m The venting valve have to attached on the pump to assemble the
measuring distributor. The pump should operates as intermittent
method. If not, the distributor can move because the air is not
removed in the pipe.

m To operate the pump with intermittent method, the pump have to be
installed a controller in pump itself or be attached the controller on
the machine.

=
01NS

02BNS

OTNA02N/03/00

ﬁ

ARD-352

ARD-342

|
¥
L]
ARD-343 ¢ TA‘i I SPPSS

ARD-353 ® =

f ARD 345

-
O

‘ : — e

e (00 TR

@4 == 82 ARD-356
@4 R b=

i
~ e HEE
-

o

—_ . pump for all, all for pump




1. Necessary oil supply of
AREE ALt 4

— Qil supplying place — Calculation formula —

* Bearing @

otal loss formula Q=
K=

Measurement of oil supply = S%2F A tEH

Necessary oil supply (cc/hour) 2R Ol S

The unit of width and length is (mm) =t

Q= 01/25.4 X Diameter 214
X Row pieces@ X K
(Ball, Roller, Needle
bearing)

- Chain ?

Oil Lubrication pumps
Technical data

= Oil supply constant (See tabk below) Ol S=XI=

— QOil supplying place — Calculation formula —

Q= 006/254 X Lengh Z0|
X Width Z X K

+ Siding bearing

ey

* Ball Bearing way
Q= 015/254 X Shaft da =4

X Joumal length Z0|
X K

Q= 0®/254 X Length Z0[ X
Row pieces €4 X K

=
Ny

* Phne giding *Gear Q= 03/25.2& X Ptch
= 2 21
Q S.O\;\;‘SSHAEXXL?QW 20l X Circle diameter 214
= X Teeth widh 710 2
(Length = Stroke) x K
+Cylndic siding Q= 015/25.4 “Cam Q= 0.08/254

X Diameter 214
X Length 0] X K

N

X Comact crcumierence
FHERZE X Width & X K

2. Necessary al supply of rotat

ing formula

(Return type of lubricatihg oil, Experienced formula in Hodson's sliding bearing)

20l ofst AAr 24

+Siding bearing

Q= 3xr XN X 10°

Q : Minimum oil supply
Z| X 5= (Gallon/min)

R :Radius of shaft(inch)
el

N : Rotating speedrom)
3| %

*Rotating bearing
= (325 X 1075/ A) DinF
Q: Ol aupply (Y/min) SR
At Raishg temperaturel 'C)
2cH5}
D : Shat diameterimm) &4
1 : Coefficient of friction
OFEAI~(0.001~0.002)
n : Rotating speedirpm) &l&
F : Load(kg) ol&

* Gear
H: (15HP - k)x10.6=159HP -k

Qil supply Constant(K)

H : Heat capacity produced by ° mor
SEASEE (kcal/min) :: 0100 200 300 400 500 600 (m}kr:;n:.
HP : Tranamit Horsepower Ot &)
1.5 : Constant 2z ::
106 : HP=10.6(kcal/min) o
k : Coefficent of heat lbss 13
Sl 12
-Normal : 006~0018 E& o
—Precision gear : 0.008~0012 09
HIW|of 08|,
07| 1 2 4 5 6 7 8 s/ip 112131415 ?’:k:’
Q= H /A42%cAt 22 L //’-_’___.,._4—— m/min)

04 01 02 03 05 06 07 08709 1.0 1.1 1.2 1.3 14 15
Q= Ol supply (m*/sec) 872! :-2‘ //L‘
r . Specific gravity (kg/nf) HIE o

¢ : Specific heat (kcal/kg,C) HIE 005

At :Raisihg temperature(’c) 2=HS} 8

¥ This calculing formula is he most correct data when speciic heat of oils s 047kcal/kg, C
0 A= SA2 22o| 27t 047keal/kg, CY WE 7|1=

O wwsmmseowr bb D



Oil Lubrication pumps

FREZ2| IS

Description of Main Function

W Float swich(2@¢ 2i# AQ4x])
Ol levelg AXE == U= Float switch7t LR
50 Qo Y3 L] 220] 2IXFHo| =26t
&|™ Float switch 2] 0| "ON" &I 0] switch
o] TES AEAIEL HMOER|t Hzsl 2Y
B 49 J17Ael HX| S0l 0l8g 4 Ct
AREHLL : AC250V, DC200V Olot
TEE2F: ACO33A, DCOSA

B Pressure swich@= A24R|)
PumpZt Z7ISAE AR 0 LA Lol o
Fel Y20 =6h=XE dRioto] Bme| *AE
S Adohs JIseEM FHERl S ¢ W=
AgRIC] ZEO| “ONO| /A =lof 2lem ol F
ol MSE 7|7AES| HiofHX|et 12610y HEo
2F FE, 7|HEX| S0l A 4 Uk
AR PS-1.5(0.15MPa)

PS-11(1.1MPa)
ARSFIRY © AC 250V/DC 32V
1.BA0]5t

m ZESAZE A

Hi= &5 Al ZEOIN &2 S0| Yie02 &
28l hterval Time @H FX| AlZhg sHof sict
EZAIZH0l HIsH hterval Time (2¥d EX| Al7ZD
0| oM DEN| =2 Eo| L6 £/ olii=
LHE0] ZRi= oFMER|of Qlslf REPL XISe=
XA =k J2it G0l AloH  ChA| FAK
¢l &l=g ol =t

B Relef Valve(YEizF wH)
UM HY -

02 MPa ~ 2.0 MPa

B FEED button 7I1S(+5 %)

20| RISl MEplN FED" HES +2H
A AlZlzh= 2G| 21 Q= S0t 220]
EE =ot Z7HHEE MXBIo] 2hHel Arg H|
ob Lt =592 SRS otuxt & 1 E0l6H|
AMEE 2 I} T WO LIS FEED HE A
x| HES oI85H 71l & HIofAX|Rt H20|
CIEE|o] US UHTt O] 7152| AKE0| ZHSolct,

B Built-in Float Switch:
The Contact Point indicates ON when the oil
surface is lower than the lowest limit line by
perceiving the drop of oil surface of Reservoir.
Maximum Use Voltage:
AC 250V/DC 200V
Capacity of Contact Point:
AC0.33A/DC05A

B Built-in Pressure Switch:
The Contact Point indicates ON when pressure
reached the certain pressure by perceiving the
pressure of Pump. This device perceives
whether Pump operates normally or oil-
leakage occurs in Pipe.
Applicable Pressure:
PS-1.5(0.15MPa)
PS-11(1.1MPa)
Maximum Use Voltage:
AC 250V/DC 32V
Under 1.75A

B Setling of Operation Time:

This Pump must not be operated continuously.
In case much heat is generated in Motor by
long-time operation, Motor is set to stop by
bimetal which is equipped inside Motor, and it
operates normally when the heat cools down
again. Please set sufficient interval time for the
most suitable operation.

B Relief Vahe:
Adjusting the Pressure of Pump
Adjustment Range:
02MPa~20MPa

B Feed Button Switch:

It is used when oil is supplied manually. Pump
operates when Feed Button Switch is pressed
regardless of setting time. When Pipe is set and
initiative Pump is operated, the Feed Button
Switch must be pressed necessarily so that oil
can be filled inside the Pump and Air is
completely eliminated. Then connect to
Distributor.

It ASEIX| s 4 Tk

m As the viscosity would be sharply changed by
the temperature, proper viscosity of using oil
should be applied according to the viscosity
appling chart.

=0l U2 SHE=(cSt) A3t

Tem

p&_ra VG32 | VG46 | VG68 [VG100|VG150
§e

-30 | 3250 | - - - -
-20 | 1170 | 3600 | 8000 | - -
-10 | 440.0| 1270 | 2500 | 4500 | -
0 240.0 | 520.0 | 950.0 | 1600 | 3570
10 [ 135.4(261.3|433.0|772.3| 1236

20 | 76.1 |134.0|212.0 | 356.6 | 553.2
30 | 464 | 75.7 [115.0]183.8|277.0
40 | 302 | 46.3 | 67.9 | 103.8| 152.3

50 | 208|302 | 430 | 632 | 905

60 | 150 | 208 | 288 | 41.0 | 57.4

70 | 11.2 | 150 | 203 | 28.1 | 385

80 86 | 11.2 | 147 | 20.1 | 27.0

90 69 | 87 | 113 149 | 19.7

100 | 5.6 | 69 | 88 | 114 | 149

110 | 46 | 56 | 71 | 9.0 | 116

120 | 39 | 46 | 58 | 7.2 | 9.2

130 | 33 | 39 | 48 | 60 | 75

140 | 29 | 33 | 41 | 50 | 62

150 | 25 | 29 | 35 | 42 | 52

160 | 22 | 25 | 30 | 36 | 45

170 | 20 | 22 | 27 | 32 | 3.9

. pump for all, all for pump



AMGP-01A(F) Series

B XA LHEE CIXE EoH2l HIol Qs ZI&MO 2 5RE|
= HEZAM dgk BHIHOB Bl ZE6IH AREERE=E
AMGP-OIA(F) Etfet, FZA! BHHH (ARD-340,350. PVO
Etednt Z8610] AMZkl= AMGP-OIAF-T EFDI LTt

B CIXE 7IESR] WALR MEME7} FH KA TR 4|
9! 2X2 BARI| 2Z0| Dj3tn olARRel Alto| T
20fstct,

B FX| Al ES AR A

[ =
7lof ZezmiEel 28 39

Z o] Halslu HERIH A

J

B RUKSH Zx0) Qs 2 £
£ 2= HIOEX|2F HEE 4= QUTk (MBI

B HZ M0l “Feed” HIEO| U0 7| HiRlE MR 2
L2l 71 M7Pt E0ltH o HES 0186t +5 2+
7tsotct

B B== S, QAP A, AZ2 1A, dF7 1A, AEZ 1A L
ZISN7 1A Soll 22) AkZE)

Float s/w Option

Reservoir capacity @ )

Ol supply method

No mark : Proportional

AMGP - 01A F - TO3

Pump division J

et

- T 110

FH UX| A%K]
No mark : None
F : Contained

SR
No mark : 1.8
T03 : 30

< H
B Y4

T Measuring
Voltage (V)

it

| Itis an intermittent pump containing the digital timer inside
to control the discharge volume correctly. There are two
types, one is used to be combined with resistive
distributors(DB type), the other is to be combined with
measuring distributors (ARD-340, 350, PVO type).

m It has digital controller to check easily the operation with
indication of letters and numbers on the controller. the
surface is beautiful and easy operation checking.

m It is possible to lubricate by setting intervals and discharge
time easily and precisely.

m This pump has a terminal box to contact outside controller
to alarm the oil shortage. (Option)

H As the pump is installed feed button switch inside of pump,
it is easy to remove the airand to operate by  manual.

m This pump is mainly used machine tools, printing, foods,
fabrics, injection machine and various industrial - machine.

Discharge | Working | Pressure | Reservoir | \._ . Net Phase 1, Poles 2P
. Viscosity Outlet . Motor | Fre- Rated
Tvoe volume | pressure | range | capacity JUE— p— weight 0 : c
yp Exom | Al2oE | omiwol | my5gar t=d =7 =ar utput | quency | voltage | Current
il v e b e PT = 52 | Zns | MY | mR
CC/mIn MPa MPa Q kg W Hz V A
01A 85 50 |100/200| 14/0.7
038 0.2~1.7 1.8 30~500 | 1/8"(@4) 2.8 15
01AF 100 60 [110/220| 1.2/0.6
85 50 |100/200| 1.4/0.7
01AF-T 1.7 0.2~1.7 1.8 30~500 | 1/8"(@4) 2.8 15
100 60 110/220| 1.2/0.6
125 18" 50 |100/200| 2.0/1.0
01AF-T03 0.8 0.2~2.0 3.0 30~1000 4.7 25
150 (6] 60 [110/220 1.8/0.9
125 1/8" 50 |100/200| 2.0/1.0
01AF-TO3-T 1.7 0.2~2.0 3.0 30~1000 4.7 25
150 (@6) 60 |110/220] 1.8/0.9
o O WWw.aryung.co.kr 6+ 7 —




169
142 17
121 108
4-07 HOLES .
S [ | - —
PT 1/8"
::;2
(2]
e
]
[ |3
T A-RYUNG g
e
|/ 3
=
-
S
R B
(156)

125 220

179

Circuit diagram s|2x

External dimension &= Applications X2

AlEgH - Ols
ZXRY: SED| — 32¢St 0[5t

Sl | — 68cSt Olst
PN ES|
AoA 2 FHH : Rastic
B3 : Plastic
7|01 HZ : Seel
& 710[= : Rastic/ZnDC
A== 80°COkH
Sl
Hl2ik! - AMGP-01A, O1AF, OTAF-TO3
Mkl - AMGP-O1AF-T, O1AF-T(3-T
HlojAL: Digital ype
HXKIZEH: 1~99mn
EZEA|7H: 1~00sec
A 0IX| - PG-35K

(AMG P-OIAF-TOB)

AHARIX - FS-A
EX:03A

Type of fuid : Ois
Recommended oll

Winter — below 32¢cSt
Summer — below 68cSt
Material

Case & Cover : Padic (ABS)
Tank : Rasic (ABS

Gear pump : Steel

Shaft guide : Pagic/ALDC
Temperature : below 80°C
Ol Suppy method
Proportional :

AMGP-0OIA, OIAF, O1AF-T(3
Measuring :

AMGP-OIAF-T, OIAF-TO3-T
Controller mehod : Digital type
hterval time : 1~99min
Discharge time :1~99sec
Pressure Gauge : PG-35K

(AMGP-OIAF-T(3)
Float switch : FS-A
Fuse : 03A

Electric connection ZM&=

AMGP-0IA(F), O1AF-TO3
H| 3 A(Resislive method)

AMGP-01A-T, O1AF-T0O3-T
MM (Measuring melhod)

CONNCTOR PLUG DEPOWER
% 1RED
@ @ @ @ 2BLACK
CONNECTOR| PLUG FLOAT S/W OPTION
= DEPOWER
@ @\|/@ @\| e@oLAARMm
@ ©)|\® @ | "swire soreen

' pump for all, all for pump



Panel description

Pow C€
MGP—01AF
CENTRALIZED LUBRICATION SYSTEMS
MINUTE \ li SECOND
r /
dJs) LS
INTERVAL TIME DISCHARGE TIME

Digital Control system

e

dt= Di O MEo| A2 E/H O
Mode "B' buton2 =21 4% MODEE tH
Li@ ™ =t
B) &8 =3 10X ool ot ol gle
Y| AR E AR VI X5z 2

: Feed buton
* Reset button
* Mode button
* hterval FND
- Discharge FND

(ORORSRORS)

MINUTE

'SECOND

FE

INTERVAL TIME

PN

Ed

2]

DISCHARGE TIME
A

MINUTE

SECOND

0

INTERVAL TIME

=

DISCHARGE TIME
A

Il Interval time Z[ASHe| £

25z

Discharge Time
(ESAIZH

Interval Time
(ZFd EX|AIZH

1~10sec Luf

ok 2min Ol

11~30sec Ll

oF 3min Ol&

31~60sec L

ek 5min Of&t

61~99sec il

2k {0min Ol&t

Efo|H &3 Y

* R
Interval Time  1~99min
Discharge Time 1~99sec
* EE Q2 M
01A(FX100cc/min = 167cc/sec
01AF=T03 150cc/min = 250cc/sec

1) Ay
MODE m :
A X2
v x|
A) Q¥ Mode "®" button2 13| ¥2H
Interval time2| 4=X|7t 7’*H*71EIEF| ol (DA
‘A" buttong F2H X7t Btsln QH
‘¥’ button2 F2H £X|7} %.*iﬁlih Hst
£ Interval time2| A% 0| 242 E|H CA] @
Mode "®" button2 13| 2™ Discharge
time2| $X|7t 28 H2|H o = DP‘WWE
DEH“A” buttong F2H £X|7} F71512 @
HY” putton2 F2H #—XIW’*A\_&H:L A
Discharge time2 A% 0| 22 EH @H

YA OlF, 28U

ra

A2 ®MBHECH
C)"A”, “¥” button2 13| =
fotH AlLshM +
ch

S [otch X4
20 oM ALEM

o o

z
=L

pdy
=]

E

2)RESET 7Is
20| ZIE MEHOIM RESET" buttang
2 2EE BURITISET CIAl ARE 2t
3) FEED bu
2H0| X
H HA| o'Oﬂ
Alglo] =
’<7IHHH§ =

SRt &

IS (&= 2%)
=01 MefolM FEED" buton2 £2
EED"7t HAIZIH A% ARt2h= 2
1 Q= S0t 20| EEEICE
|at] L2l ArE MASIHL 5
SO2 ZRe i Z0|5HA| A2 4= QM.
4) Ol 8= ZH (Option)
HIZ O U0 BEFESA E=HH HA I"é
VIL'0] EAIZIZ Buzzer 20| M3l @
BZSE g AE g 7t QU

I EEAIZE 2

] OI HI= REA| DEOIA =2 Q0| Wiz
ZIE Holl 2|7 £S5t hterval Time (71
JHJKIAI”)c> AHshorsict, EEAIZH HisH
nterval TimeO| HOH ZEQ| =2 Z0| LM
Sl l0] LSO &2 QHHER|O] 2l 2E
7t RS2 HXBHA =Ch J2it €ol Ale
™ CIA| FAAR! HES oAl ECt,

OO

O

Setting instruction of digital timer

*Setting range
Interval time:1~99 minutes
Discharge time:1~99 seconds
*Calculation of discharge volume;
01A(F):100cc/min = 1.67cc/sec
01AF-T03:150cc/min = 2.50cc/sec

1) How to set the timer
Mode m : Starting set, Move, Finishing set.
A:Numbersup
'w: Numbers down

Al If you press the button” m" one time, the
interval time mode begins blinking. * A"
button increases the numbers to set the
interval time and "w" decreases the
numbers. When it finished, press " m'"button
again and the discharge volume time mode
blinking,” A "button leads to increase
numbers and” ¥ to decrease the discharge
time. Press again the MODE " m" to exit the
setting program.

B) If you don't press the button within 10
seconds, the timer recognizes the setting
time is ended and operates automatically.

C) When you press " A", “w" button every one
time, every one number increases(decreases).

2) RESET function
When you push the "RESET" button during the
operation, the mode returns to starting set
mode.

3) FEED button( manual oiling)
If you press”FEED"button during  the operation,
the oil discharges regardless the setting mode,
also this button can be used to remove the air in
pipe or by manual.

4) Alarm of oil shortage(option)
When the oil is short, the window indicates "OIL"
with alarm buzzer sound to check easily the oil
shortage.

I Setting of operation time

m As this pump occurs the high heat in motor
when working, set the interval time
following the left information. The motor
stops automatically by high motor heat
,causing the interval time is shorter than
discharge time. But the pump works
normally after motor cooling.

\—4

O wmarpngeokr G 9—



Oil Lubrication pumps

AMGP-01M(F) Series

AMGP - 01M F - TO3 - T 110

Pump division J

a2

Float siw Option

TH AR ALK

No mark : None

F :Contained
Reservoir capecity (0 )
EEEH

No mark : 1.8

T03 : 30

Oll supply method
EERTN

No mark : Proportional
T Measuring
Voltage (V)

Fet

B Xk WA= of=2 3 EFOIHe| Mop Clal Ziaksio s 29kl Hmg m AMGP-01M series pump lubricates intermittently the oil by analog
M H[gAl 2o (DB Ef)al 285BI Al2ECE timer installed inside the pump with resistive distributor. (DB type)

B OIE2T 7IEE YWrloZ 2ES 22 3|IFAIAH HX| Alzlt E& Al7t m This type is applied analog control system and by turning left and right
o MF dito| HEleln @Kol HLpt Aol 7| ZeEmtEo| & direction it can easily control the interval and discharge volume.

=7ttt m Because the LED lamp plate is fitted in front of the pump, it is suitable to
B ZSAE|T M ZAFEo] | FD I HARE0 SEME] U 0|ARS check the operation conditions and the trouble.
| Al=0]| OH% Z0loich

[¢]
mr 3

l

m This pump has a terminal to contact outside controller to alarm the oil

B FEKeH ZAP ol @Y BE Al ZUSS 22K 1 MSE 25 Mo shortage. (Option)
RRL HZE 4 Q= TRPL QICH (MEHAIY

m As the pump is installed feed button switch inside of pump, it is easy to
B O M| Feed HEO| UX =7 HHEE AXBt F HIELHS| & remove the air and to operate by manual.

H7pt S056HH 0] HES 018510 & 77t 7tsslct

B B== SAPA, QAP A, A2 1A, AR7 1A, AMEZ A,
AP S0l E2| AFZ=ICt

m This pump is mainly used machine tools, printing, foods, fabrics,
= injection machine, press and various industrial machine.

| Fl
jla=}
];
el
_|\.I
OF

Phase 1@, Poles 2P
Discharge| Interval | Working | Reservoir Viscosi Outlet Net
T volume | Time |Pressure | capacity xity _ weight ~ Motor | Fre- | Rated
P | ezgn| wxlAz| AgwE | wasy| MEES | 2T | sz Output | quency | voltage Current
cc min MPa i} ¢ kg =3 | Fobg | MY | HF
W Hz \ A
) 50 100/200] 1.4/0.7
01M 1/8
3~100 1~120 0.8 1.8 30~500 28 15
01MF (@4)
60 110/220| 1.2/0.6
e 50 |100/200| 2.0/1.0
01MF-T03 5~150 1~120 0.8 3.0 30~ 1000 (6] 4.7 25
60 |110/220| 1.8/0.9

pump for all, all for pump



Oil Lubrication pumps
Analog controller type

'\
=

External dimension 8= Applications X2

AESA - Ois

RXQQ : E&7| — 3205t 0[5}
169 85IV | — 68cSt Ot

142 17 WA

= = #OK: = 74 : Aastic

EH3 : Plastic

| @rer 2o ce| H-loumer £ i
=it T 1/8" _ 710] B : Seel

= 7I0|E : Pastic/ZnDC
AIE25 1 80°COlot
=S
= HlofHA! - Analog type
FXNZE  1~120min
EZEAIZE: MF-T18 : 3~100cc
MF-TO3: 5~160cc
I=|0]X| : FG-35K (AMGP-0IMF—TO3)
ZHAAR] 1 FS-A
EX:03A

17

90

i
o — 0
105

(268)

=

Type of fuid : Ois

Recommended oll

Winter — below 32¢cSt

ummer — belbw 68cSt

Material

Case & Cover : Phdic (ABS)

Tank : Rasic (ABS

Gear pump : Steel

9 Shaft guide : Pagic/ALDC

Temperature : below 80C

Ol Suppy method : Froportional

Controler method : Analog type

hterval time : 1~120min

Discharge time : MF-T1.8 : 3~100cc
MF-TO3 : 5~150cc

Pressure Gauge : PG-35K

(AMGP-0IMF-TO3)
Float switch : FS-A
Fuse : 03A

Discharge Time Interval Time
(ESAIZH (7t HXIAIZH
1~10sec il oF 2min Ol
11~30sec Ll oF 3min Ol&
31~60sec L 2k 5min 04

. . . = . . 61~99sec Ui 2k {Omin OlAt
Circuit diagram 22X Electric connection ZMX:
B 0| o= E A ZEON 52 0| ZMEe=

= SO

B0 o7 ZE5t Interval Tme @H EXIMRZHE
AMGP-01M(F), OIMF-T03 = o St T %3]
bl # Al (Resislive melhod) CONNCTOR PLUG | pamowm SYHORBICEL EZARION BlsH Interval TimeOl O
% 1RED H DE0 52 0| A5 ZI0] LR ZRiE o
oXI6X0) 2BLACK HER|oll ofsH 2E7F XiS92 HX[6H| =t 17

Lt E0| Ao ChA| Heb&Rl AF2 6| =it

oL T

CONNECTOR| PLUG FLOAT S/W OPTION mAs this pump occurs the high heat in motor when

'

! = M@POWER working, set the interval time following the
I O @\| /@ @\ c@aLAArMm information. The motor stops automatically by high
: ® 6/|\® 6 MIRED  2BLACK motor heat, causing the interval time is shorter
L SWHITE 4GREEN than discharge time. But the pump works

normally after motor cooling.

o O o 10+ 1




Oil Lubrication pumps

AMGP-01S(F) Series

= Xh LHZE O Efolmel Mool olsf 7teiso Sesls sz
A BIER] B (DB EFt KBbl0] ARSI

® Ol= T 7IEE Whloz 288 AP SRNAH A ARl £5 AR
o] 4 wep| wielslol WeRivigel 2% 37t Tkssict

® AISAE7} Fot R Bhto] LED m0| EAIO] A AlEf o 0lAkR
20| 40| 0f SOlBct.

= REIREH ZXD Ol 2 S Al ZTS0| B2 1 ASS 2l Fo]
BRI SISt 4 Ol EIRPH UCE (MERfRY

® HE 0| Feed HE0| 0| £7| S MRSt S th2hYl 27|
HI7Pt B0l6HH 0] HES 0185101 45 SR71 7H55ict

B ST FIPA, QMDA AR, AKR7 A, AST A, T W 2
AP 7] Sofl 'l ArgEc

AMGP - 01S F 110

Pump division J

Hons

Float siv Option
FHUX] ALK
No mark : None

F :Contained

Voltage (V)
b

ki

m AMGP-01S series pump lubricates intermittently the oil by analog timer
installed inside the pump with resistive distributor. (DB type)

m This type is applied analog control system and by turning left and right
directions, it can easily control the interval and discharge volume.

m Because the LED lamp plate is fitted in front of the pump, it is suitable to
check the operation conditions and the trouble.

m This pump has a terminal to contact outside controller to alarm the oil
shortagel(option)

m As the pump is installed feed button switch inside of pump, it is easy to
remove the air and to operate by manual.

m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine, press and various industrial machine.

Phase 1@, Poles 2P
Discharge Intgrval Working Reserv_0|r ey | Ol N.et
T volume | Time | Pressure | capacity AR ex weight ~ Motor | Fre- | Rated
ype E=2aF | AXAIZH A2 | eig et = =T = Output | quency | voltage Current
; e e cSt PT _ _
e min MPa 2 kg 23 | Foa | FY | mR
W Hz \% A
30 50 |100/200 | 1.4/0.7
015 1/8"
3~85 2~100 0.8 1.8 ~ 2.8 15
01SF (@4)
500 60 |110/220(1.2/0.6

. pump for all, all for pump



Oil Lubrication pumps
Analog controller type

K
-

External dimension 8= Applications X2

A2SA - Ok
ZHRY : SEY| —32cSt 0l5t
o (17) 51| — 68cSt 0l5t
4-9¢7 HOLES 121 108 R
HOIA & FAH 1 Rastic
] EH3 : Plastic
| @ 710} = : Seel
. = 7I0I= : Pastic
L AIE25 1 80°COlot
SRUA vl
HIoHA] - Analog type
2 2AIR] : FS-A
EX:03A

40
78
88

(239)

(179)

151

Type of fuid : Ois
Recommended oll

Winter — below 32¢St
ummer — below 68cSt
Material

Case & Cover : Phdic (ABS)
Tank : Rasic (ABS

Gear pump : Steel
Controller Panel Shatt quide : Padic
@ @ @ Temperature : below 80C

Oil Supply method : Froportional
i @ hterval Time LED
Power L c E @ Oil Level down alarm

Controler method : Analog type
/ f AMGP,Lm SF @ Discharge Time LED

Float switch : FS-A
Fuse : O3A

Y @ FEBD Button
— IIIII .I.I. (O" Manua| SJDDN)
5 v Vo et e st

® Discharge time Volume

Discharge Time Interval Time

(ESAIZH (7l HXIAIZH
1~10sec Huj oF 2min Ol&t
11~30sec il oF 3min Ol&t
31~60sec L 2F 5min Ol&f
61~99sec Al 2F 10min O

Circuit diagram 2IEx Electric connection ZME B 0| HE= AT Al 2EQIM =2 Ho| Lilk|
Ir = S i =2l

o2 7ol 2|71 EE5t hteval Time (7 &
XAlZhE dH™ehorsict, EEAlZto] HlaH

AMGP-01S(F)
bl 4 (Resistive method) CONNECTOR]  PLUG | @@power hterval TimeO| %o REQ| 2 E0| L4
= % 1RED SIA| o] LHSof| Z&kE QHHEX|0f 2fsl 2E
OUTLET ZBLACK 7t AtseE FXptA ok T2t Zol Al
®, I ® 0|0 O o ChAl SOl SIS 31| ik
i FLOAT SWITCH m As this pump occurs the high heat in motor
/" (OPTION) CONNCTOR PLUG %%:A;O?N/Vgp{o PTON when working, set the interval time following
@ @ @ ® @@ OIL ALARM the information. The motor stops automatically
¥IRED  2BLACK by high motor heat ,causing the interval time
® ©Q/|\® ©®/| 3wHrescreen . . )
is shorter than discharge time. But the pump
ANK works normally after motor cooling.

o O et 124 13—




Oil Lubrication pumps

AMGP-013(F) / 015(F) Series

B X LHEE of== Eto|Mel Aol 2lsh
Af b 2HIEHDB Et)nt REIGH ALSEICE

= 54 ¢ §s0| B2

LS

B HE XA Feed HIEO| 0| 27| HiZEE X
H7Pt EolstH 0] HES 01851 =

B Bo= oSuyA AENYT (A, SE21A|, LAY A, AZ7 A, S|717
=]

A BR= AEY 4 U=E YT FER A=

| du2s 2t 245 AR Ao

S ZISNET 17 Soil 22| ARS=h

PE=rsr=y

=

A ao

o

b 7tssict

HH

2 gfthE =2

[

iLHel

r
O

71

AMGP - 013 F 110

Pump division
Hopg
013,015

Float siw Ogtion
QU UK AR
No mark : None

F :Contained

Voltage (V)
b

XJO

=

m AMGP-013, 015 Series pump lubricates intermittently the oil by analog
timer installed inside the pump with resistive distributor(DB type).

m This type is high endurance because it is made anti-vibration structure
to protect shock and vibration.

m This pump has alarm device when the oil is short and has terminal box
connecting with control device outside.(Option)

m As the pump is installed feed button switch front side of pump, it is easy
to remove the air and to operate by manual after setting the pump.

m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine, press and various industrial machine.

Phase 1 ¢, Poles 2P

Discharge| Interval | Working | Reservoir| ., . Net
volume | Time |Pressure| capacity Viscosity | - Outlet weight ~ Motor | Fre- | Rated |
Type - AREs | EE3 0 L urrent
EZ Q2| HX|AIZH AR US| g ear A PT =2k utput | quency | voltage -
cc min MPa 0 ¢ kg g3 | Fope) zer | O
W Hz \%
50 |100/200]| 1.4/0.7
013 1/8"
5~100 3~30 0.8 1.8 30~500 28 15
013F (@s4)
60 |110/220| 1.2/0.6
50 |100/200| 1.4/0.7
015 1/8"
015F 5~80 30~120 0.8 1.8 30~500 () 28 15
60 |110/220| 1.2/0.6

. pump for all, all for pump




Oil Lubrication pumps
Analog controller type

'\
=

Applications X2

MERA - Ok
MU 1 SEY| — 32¢St 05t

External dimension &=

121 it °
445_, 25 515 . 5| — 68cSt 0/3H
108| o KA
= HOIA : Pastic
@_é} 1 i - Aumnhum
b &3 Rastic
b ™~ i ik
OFTEEY s ouTLET ]| ® 710{ B : Seel
Mm £ J0|= : Plastic
T — . AIB2E : 80°COk

=Rl R
HlofA! - Analog type
ZIEARIR]| 1 FS-A
X :3A

A-RYUNG (]

179
if
El—hﬂ—l—l—l—‘—l—ls
e
248
151
é

Type of fuid : Oils
Recommended ol
Winter — belbw 32¢St
Summer — bebw 68cSt
Material

Case : Phstic (ABS)

Circuit diagram sIEx Electric connection AME
AMGP-013(F), 015(F)
bl # Al (Resislive melhod) CONNECTOR| PLUG | o@rowm
= % 1RED
2BLACK
@ tOUTLET @ @ @ @
é FLOAT SWITCH CONNECTOR| PLUG | FLoaT sw opTION
/" (OPTION) < DBPOWER
23K
@ @ @ ® >:<1::|%3LOA|(L?KAL€£T/\/MHITE
@ @ @ @ 2RED  ZGREEN
ANK

167 121 Cover : Aumhum (ALDC)
4523, 315 Tank : Rasic (ABS
Gear pump : Steel
0 Saft guide : Pladic
@'@' » Temperature : below 80C
S OUTLETT;'M"' & * Oil Supply method : Proportional
P~
i » Controler mehod : Analog type
C 1 » Float switch : FS-A
i .
A—RYUNG (] 2 10Kt "’ + Fuse - 3A
Contratised o~
Raliteation dratems
e o inerval time ZlAgtel MEE
. D
Discharge Time Interval Time
S (ESA|IZH (7 HX|A|ZH
i\ - - - s CJ 1~10sec il of 2min OlAt
11~30sec Ll OF 3min OlAt
31~60sec LI oF 5min Ol
61~99sec I} Ok {0min OlAt

B 0| HE= AF A ZEOIM &2 S| LAk
82 70| 2|7 &85t hterval Time (ZFd §
XAlZhE dFelorsict EEAlZtol Hlah
hterval TimeO| &M ZE] =2 Co| &

Aol =l0f LSOl AR CEHEIR|of 2fs =

Ei7} XIS2E XAl =k T2t S0l 4

OH ChA| FHAROI 2iES 5HA| =ict,

m As this pump occurs the high heat in motor
when working, set the interval time following
the information. The motor stops automatically
by high motor heat ,causing the interval time
is shorter than discharge time. But the pump
works normally after motor cooling.

O wmaacoe 1t 15—



Oil Lubrication pumps

AMGP-025N Series

B XA LHEE o= EOIHe| Mol Qlsl etz gRElE Huz
A H2A] 2HHEH (OB EF) 2 REGIH ARSEICH

w57 FIS0| U2 7RIS AKSE 4 9

F

5 YrREE AR

du30| 22 1 ASE 2R Mo

B HI FMHY| Feed” HEO| AN =7| S
M7yt olotH 0| HES 0186l +5 577

b 7bssict

B S0= uEmlA MSMYTIA, SEPIA, QAP 1A, A7 A, AR 1A
H 2SHE7 Al S0l 22| ALSEC

AMGP -

Pump division

Reservoir Material
B3

Hmog

025N

- ST 110

No mark : Plastic

Voltage (V)

ST : Steel

e

mAMGP-025N Series pump lubricates intermittently the oil by analog
timer installed inside the pump with resistive distributor(DB type).

m This type is excellent endurance designed anti-vibration structure to

use much shock orvibration.

m This pump has alarm device when the oil is short and has terminal box
connecting with control device outside.

m As the pump is installed feed button switch inside of pump, it is easy to
remove the air and to operate by manual.

m This pump is mainly used machine tools, printing, foods, fabrics,
injection machine, press and various industrial machine.

Phase 1, Poles 2P
Discharge| Interval | Working | Reservoir | ., . Net
volume Time | Pressure | capacity VgL OuElet weight Motor | Fre- | Rated
Type _ ARz | EER Current
EZ Q2 | MX|AIZH A2 | e gat ot PT =2t Output | quency | voltage "
cc min MPa Q ¢ kg =3 | =Op> | M™et ‘TAT"
W Hz vV
50 |100/200| 1.4/0.7
30
025N 1/8"
025N-ST 3~60 3~120 08 40 ~ (@) 2.8 15
500
60 |110/220| 1.2/0.6

‘ pump for all, all for pump




Oil Lubrication pumps
Analog controller type

K
-

Applications X2

MEFA 1 O
FHYU : 27| —32¢St Olst
527 — 68cSt olat

External dimension &=

. THE

70lA : Pastic

715 : Auminum
B3 : Plastic / Steel
7|0 HZ : Seel
Z7R0|= : Pastic
AE2LE - 80°COlot
gAY
Hioi4] - Analog type
AR : FS-A
EX:3A

10

268
|
£
|

150
182

Type of fuid : Oils
Recommended oil
Winter — below 32¢cSt
Summer — bebw 68cSt
Material

Case : Phstic (ABS)

8

(175) Cover : Auminum (ALDC)
{149) : A
Tank : Pastc (ABS / Seel
Gear pump : Steel
Saft quide : Pladic
i » Temperature : below 80C

Ol Suppy method : Froportional
Controller method : Analog type

Circuit diagram 22X

Electric connection ZM&=

! 5| o) . i :
C gl g Float switch : FS-A
3 * Fuse 1 3A
] a
|| | E
Discharge Time Interval Time
PT 1/4" SOCKET 4-995 HOLES / (ESAIZH (7 "XIAlZH
{DRAIN SOCKET)
1~10sec Lulf oF 2min Ol&

11~30sec Ll

OF 3min OlA

31~60sec L

oF 5min Ol&

61~99sec Ll

oF 10min Ol&

B 0| Hx= AE Al 2EIM =2 Z0| it
B2 Hol| 2/ £56t hterval Time (71 &

AMGP-025N XAlZhE dEslorsict, ESAlZHOl HIah
B2l 4l (Resistive method) CONNECTOR| PLUG | ®erower hterval TimeO| %oH HEQ| =2 Ho| L4
= % 1RED S| =I0] LHSOH| ZH2E QREEkx|o] 2lsi 2
miET T @ 2BLACK 7t xEoZ FRpiA Sk T2kt Fol Al
' ONGIIIONO, of ChAl Sl XSS oA Bict,
% | o
i CONNECTORT PLUG | FLoaT sm opTion mAs this pump occurs the high r_meat in mqtor
i DEHPOWER when working, set the interval time following
\'Iiﬂ] @ @ @ ® @@ 0L ALARM the information. The motor stops automatically
; XIBLACK 4WHITE by high motor heat ,causing the interval time
TANK @ @ ©®/|\® @/ 2rep 36REEN is shorter than discharge time. But the pump
works normally after motor cooling.

O wmaacoe 164 17—



Oil Lubrication pumps

AMGP-**NS Series

AMGP - O0INS - TO3 110

Pump division J

YurE
ONS
O1B5NS
025NS

Reservoir capacity (1 )
= 8

No mark : 1.8

T03 : 30

Voltage (V)
4

e

B AMGP-0INS/025NS AR S& Hi= 7Ish] 29 FEh] Hug m AMGP-01NS/025NS pump is a resistive and intermittent pump, using
gk e (ARD-340, 350, PV O EfR)et Z8610] AtEEICE with measuring valve.

u R} 24X| S| & o2 ARPE L0l Qlof wmol ol g Al ARD-340350andPVOtypel
Ho| 20l 0] ALR|2| ASE 7|AS HIORIX|Q ¢HZ36t 4~ Q= ttx}  m This pump have float switch and pressure switch inside to check the oil
71| 205 HofEIX|of el ZLERE & Q=S =0 QICt shortage and connect the outside terminal on main machine to control

_ the working conditions by monitoring.
w I MO0 Feed HIE AQR[7F LIRS0l 7| HHEIS 5t 5 HHZHRQ) Of 9 Y g

O 7Pt 20klH 0] HES2 0|85l 4= 227t 7issict m As the pump is installed feed button switch inside of pump, it is easy to

B O] S 7K W HASHS SAL olert remove the air and to operate by manual.

m This type is a kind of intermittent pump, so that the continuous

B 2= ZAYA, QAP |AH|, AETA AST A, ZelA 2 2IEAM 7|2 . Y
== SR, QP AZ7A, AEIA, e 271 operation should be prohibited.

Soll Z2] ALZEICh
m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.

: . . Phase 1@, Poles 2P
Discharge| Working | Pressure Reservqr Vel | O N.et Motor T Fre- | Rated
volume | pressure | range | capacity i _ weight
Type sxonr| Algola | olaimel | mmsat AI%S.t:.E EPET? =at Output | quency | voltage |Current
o—too < = A at =
cc/min | MPa | MPa 0 ¢ kg =3 | Foe) oy ) W
W Hz V A
125 " 50 100/200| 1.7/0.8
OTNS 1.7 0.2~1.7 1.8 30~500 14 3.0 25
015NS (6]
150 60 |110/220| 1.8/0.9
125 18" 50 |100/200| 1.7/0.8
01NS-T03 1.7 0.2~1.7 3.0 30~1000 (@) 4.0 25
150 60 [110/220| 1.8/0.9
125 /8" 50 |100/200| 1.7/0.8
025NS 1.7 0.2~1.7 3.0 30~1000 40 25
(6)
150 60 |110/220| 1.8/0.9

. pump for all, all for pump




Oil Lubrication pumps
Monitoring controller type

—‘_
o

External dimension 8= Applications X2

MESA : Ols

=Xl | S| — 32cSt 0[5t
—e 5F=7| — 68cSt ol5t
XA

! Ao - e=0lE (ALDC)

7 : S2AEl

B3 . E2AE

710 H& : Seel

£ 710l= : ¥F0|5 (ALDC) el= #e LR
A2t : 80TCol6t

SR L FEA

Hotd~] - 8lE Monitorng
HIHALIR| 1 FS-A

UTALIX| . P51

t2A|0|X| : PFG-35K

(280}

Type of fuid : Ois

Recommended ol

Winter — below 32¢cSt

Summer — bebw 68cSt

Material

Case : Aluminum (ALDC)

Cover : Plastic (ABS

Reservoir : Plstic (ABS)

Gear Pump : Steel

Shaft guide : Aluminum (ALDC)
Buit in Relief valve

Temperature : below 80°C

Ol supply method : Measuring

Controler method : Monitoring

Float switch : FS-A

Pressure switch : PS-11

Pressure Gauge : PG-35K

Discharge Time Interval Time
(ESAIZH (Zted HXIAIZH

o 1~10sec Il 2F 2min 04

2 11~30sec Il 2F 3min 04

aane i 31~60sec_ Uil ot 5min Ol

— 61~99sec il 2F 10min O

B 0| Hi= AT Al REOIM Z2 S0| Lt
82 750 27 £55t hterval Time (ZFd &
AAlZhg ddsiorsict ESAlZHol HIsH

Circuit diagram 22 Electric connection ZME hterval Time 0| BoH DEQ| £ Ho| &

S| |0 LHSOl 2 QFEX|O) 2lel 2
HaAl(Measuring method) AMGP—01NS E7t XtSe2 FXokA| =Iok T2it Zo| A
o 47 | |1]
{
s
| ) 1’“

o oAl YR 255 oA =it

L o=

W As this pump occurs the high heat in motor
S/W  S/W  S/W when working, set the interval time following
AMGP—O01NS—TO03 the information. The motor stops automatically
by high motor heat ,causing the interval time
is shorter than discharge time. But the pump
works normally after motor cooling.

. M9
0 O WwWw.aryung.co.kr 18+ I S



—_ ‘ pump for all, all for pump

Oil Lubrication pumps

AMGP-200NS Series

B AMGP-200NS A= R& Hig= 7t

2 (ARD-340,350, PVO EI2)2t

S —_1
il 5

Hoo| o4

oizist

2 R Hom A Hy
F8510f MEEIC,
= QU 2K BA U 2 AT} LiEEI0f 2Uo]

0| B0kl 0] A9RIS] AISS 7|74 HowIet

A 0]
T M

7+ 0] A= HlofEkx(of Qs ZLEE & 4= AES Tl QT

B HE M| Feed HIE ARKI7E LIEEIN =7 HIZE & &
o M7t ool 0] HES 01310

A o

B 0| HIms 7iEAl mmE A GARFE s O Eirk

b 7tssitt

Hii2hHel off

Reservoir capacity (4 )

AMGP -

Pump dvision

Hmps

200NS - TO3 110

23 2y
T03:30
T06 : 60

Voltage (V)

e

m AMGP-200NS pump is a resistive and intermittent pump, using with
measuring valve(ARD-340,350 and PVO type).

m This pump have float switch and pressure switch inside to check the oil
shortage and connect the outside terminal on main machine to control
the working conditions by monitoring.

m As the pump is installed feed button switch inside of pump, it is easy to

remove the air and to operate by manual.

m This type is an intermittent pump, so the continuous operation should

u SE ZADDI, QPN NBU, AP, mels 2 Aziepy s CoPonPred
ofl Z2| A==t m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.
_ _ Phase 1@, Poles 2P
Discharge| Working | Pressure Reser\{0|r Viscosity | Dutlet N.et YISy =g ="
T volume | pressure | range | capacity AR _ weight
ype szoat | AR | g | o e %Slt:E EPET;L z=¢  Output | quency | voltage |Current
cc/min MPa MPa 0 ¢ kg =9 | ot | ®e | ®R
W Hz V A
200 50 |100/200| 4.8/1.6
200NS-T03 2.0 0.8~25 3.0 30~1000 | 1/4"(6) | 5.4 42
240 60 |110/220| 5.0/1.5
200 50 |100/200| 4.8/1.6
200NS-T06 20 0.8~25 6.0 30~1000 | 1/4"(¢gg6) | 5.8 42
240 60 |110/220| 5.0/1.5




Oil Lubrication pumps
Monitoring controller type

"\
=

External dimension 8= Applications X2

E o
- FHRYU I S| — 32t 0fat
375 57| — 68cSt Ot
300 156 o XjZE!

375 (251) 5

Ao : &=0lE (ALDC)

7 : E2IAE

B3 . E2lAE

in 7|01 HZ : Seel

Z 710|= : YF0|5 (ALDC) HelZ e LiE!
AB2LE - 80COl6H

SR L FEA

HioiS4] - giE (Monttorng

HHALIR| 1 FS-A

UHALX| : P51

A2H0IX| : RG-35K

(68)

100
75

(283)

(140)
(127)

Type of fuid : Ois
Recommended oll

Winter — below 32¢cSt
ummer — belbw 68cSt
Material

_ Case : Aluminum (ALDC)
Cover : Plastic (ABS

a5 Reservoir : Phstic (ABS)

00 Gear Pump : Steel

Shaft guide : Aluminum (ALDC)
Buit in Relief valve

Temperature : below 80C

Ol supply method : Measuring

Controler method : Monitoring

Float switch : FS-A

Pressure switch : PS-11
Pressure Gauge : PG-35K

] U Interval tive Sagtel R

Discharge Time Interval Time

(ESAIZH (7 EX|AlZH
1~10sec Yy oF 2min Ot
11~30sec Ll OF 3min Ol
31~60sec Lt oF 5min Ol&t
61~99sec ulf oF 10min Ol&t

. _ : : W 0| W= &S A ZEOIA 52 HO| Lk
S ZAA s _
Circuit diagram 22T Electric connection ZM%= o= Ho| 97 255 hieval Time (218 &

XlAlZhs HHEslloraitt, ESAlZH Hisl

375

(68)

o
2

P

(215)

g
LS

e
(202) !

(358)

{138)

hterval Time O] BOM ZEQ| =2 Z0| &
AMGP—200NS MBPH| 0] LISl SIRiE QSRR |0 ofs @
Ei7t X522 HXoHAl #Ch T2t Sol 4
L102]3[4]5[6]7[8]9[10] |  om cixmamol xise i ick
m As this pump occurs the high heat in motor
when working, set the interval time following
the information. The motor stops automatically
by high motor heat ,causing the interval time
MANUAL FLOAT PRESSURE  EARTH is shorter than discharge time. But the pump
S/W S/W S/ works normally after motor cooling.

o O wmammesie 204 2] ——




Oil Lubrication pumps

AMGP-01N/02N Series

Q A-RYUNG

B AMGP - OIN, 02N Al2x REdT=
ol | flell S5 1ok
HACZ AtSSI7Lt E= B
SI0f H2A| Ho2 AR (F
ook 2tk

s 2t JpIRAN Hel RERS
TE TRR MEo|ct 8=0f 12t b
e (ARD 340,350, PVO Etet =gt
MO ASE A= Zet wet

w2 Wt RElof 2R A2 8 4 Qlonf eEet KRk R
SLE 740] Solsict

B 0| W= 7o mme N HERFS sl QLEC}

mE=32A ¢
ol 22| AksEIt

AP 1A, AZ7 1A, ME7 1A, Z2a A ZSMHUA S

AMGP - 3M2 - 01N - TO3 - TY S

Voltage division J

|
3M2 1 30, 220V, 5080Hz
M3 1 30, 380V, 50/60Hz
3M4 1 30, 440V, 50/60Hz

Pump divson ——M———
HuE
ON, O2N

Reservoir ca pecity
B3 22H0)
TO3:3,T06:6
T2 112,720 : 20

Reservoir type
ERHAI

TY - Wall mouming
wioy 2

TZ : Bottom mounting
Hict At

Pressure switch (Option)
U AR (M)

m AMGP-01N and 02N type are designed specially to lubricate a high
precision and high discharge volume at every location on the machine.
It can be used resistive method or measuring method with measuring
valve[ARD-340,350,PVO type).
(When you use it measuring type, the venting valve have to be attached.)

m The pressure can be controlled because the relief valve is attached, and
it is easy to assemble the lubrication unit with tank.

m As this type is an intermittent pump, the continuous operation should
be prohibited.

m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.

Disch Worki p Phase 1 (3, Poles 2P
|scl arge | Working | Fressure Viscosity | Outlet Motor | Phase Fre- Rated
Tvoe volume | pressure | range | o | gxo Outout BN It C t
yp Exon | Ao | oraiso oS.:- PET utpu i quency | voltage urren
ce/min MPa MPa cot e Poles | =Lt Tef HME
W PN Hz V A
200 0.27
85 08 30 ) 305 50 380 0.17
1/8 415 0.13
01N 20 ~ ~ 25 /
20 so0 | (29 ip 20| 02
100 ' 60 380 0.14
440 0.12
200 0.27
170 08 0 ) 30 50 380 0.17
1/8 415 0.13
02N 20 ~ ~ 25 /
20 | 100 | '@ s 2 | o0
200 ' 60 380 0.14
440 0.12

pump for all, all for pump



Oil Lubrication pumps
Monitoring controller type

I

External dimension 8= Applications X2

AMGP-01N, 02N - AZRA : Oik ]
+ RHRY : B2 — 32081 0[5}
51| — 68cSt Olat

- A
SZH mR! : 220lE (ALDC)
7|0 © Sieel
83 : Seel
At Seel
87 : Rastc (PC)
ez e - d=0|E (ALDC)
« AER2L : 80TOlot
o oAl HEA! /HiZA
+ HoidA! - gls (Monttorng
o U AQR| ¢ MEIAIRE
o LAOIX] : FG-35K

&)

(25)

* Type of fuid : Ois

* Recommended oil
Winter — below 32¢cSt

Net QUmmer — bebw 68cSt

e | A | B | C | D | E| F | 6 | H | J |Waght . waerpl

Z=2F

9 Motor flame : Aluminum(ALDC)
Gear pump : Steel

OIN-TO3 | 280 | 300 | 320 | 290 | 135 | 145 |95x145| 24 | 160 | 7.4 Reservoir - Steel
Plate : Steel

0IN-TO6 | 300 | 320 | 346 | 310 | 195 | 210 [95x145] 24 | 160 | 8.1 Level gauge - Phstic(PC)
Relief vaive : Aluminum(ALDC)

OIN-T12 | 363 | 386 | 416 | 373 | 234 | 240 |11 x16| 24 | 160 | 98 + Temperature * below 80C
+ Oil Supply method :

01N-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12x17| 29 160 | 15.0 Measuring method
Proportional method

02N-T03 280 | 300 | 320 | 290 | 135 | 145 |95X%145| 24 160 7.4 « Controler method : Monitoring
* Pressure switch : Ogtion

02N-TO6 | 300 | 320 | 346 | 310 | 195 | 210 |95x145] 24 | 160 | 8.1 * Pressure Gauge © PG-35K

02N-T12 | 363 | 386 | 416 | 373 | 234 | 240 |11 x16| 24 | 160 | 9.8 _ _
Electric connection ZM&=

02N-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12x17| 29 | 160 | 15.0

#3—-PRESSURE S/W

Circuit diagram 22X 112134567
B2 (Resistive method) &Ml (Measurng method) L\l L\l

) FLOAT PRESSURE
S [ S/W  s/W
B — 83
EERSrEa
| lﬁ | 12]3]|4]s
T

o O msmmgeste 204 23 ——



Oil Lubrication pumps

AMGP-03/05 Series

B AMGP — 03, 05A2)2 REdz=
57| el E401A| 10k
OZ MESIHLT E= HE
MR HOZ2 ALSEC (2

2ith)

2t 71ARA0 FEel 2
ik
( RD-340, 350, PVO Ef2t &
O2 AR

= aQ
= \Tr

HEo|ch So0f 2t ]k
250d
2| 010F

S
=
IE

HHH
=2—

= 2 Als HY Bt B

u 2o WEyL R YEREE o 4+ UM HMEeL 2EGHH
RLE ?’\o"OI E0lslct

B 0| W= 7 mme N SRR

qo
o

M2 sliA= OrErt,

mE=32A ¢
ol 22| AksEIt

AP 1A, AZ7 1A, ME7 1A, Z2a A ZSMHUA S

==

AMGP - 3M2 - 03 - TO3 - TY S

Voltage division J

T
3M2 1 30, 220V, 508 0Hz
M3 1 30, 380V, 50/60Hz
3M4 1 30, 440V, 50/60Hz

Pump divson ——M——
R
03, 05

Reservoir ca pecity
"3 220 )
TO3:3,T06:6
T2 112, 720 : 20

Reservoir type

ERHAI

TY Wall mouming
i =

=t T—|
TZ : Bottom mounting
Hi=t 2

Pressure switch (Option)
U AR (M)

= AMGP-03 and 05 type are designed specially to lubricate a high
precision and high discharge volume at every location on the machine.
It can be used resistive method or measuring method with measuring
valve (ARD-340, 350, PVO typel.

m Whenyou use it measuring type, the venting valve have to be attached.

m The pressure can be controlled because the relief valve is attached, and
itis easy to assemble the lubrication unit with tank.

m As this type is an intermittent pump, the continuous operation should
be prohibited.

m This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.

' . Phase 1 (4, Poles 2P
Discharge | Working | Pressure Viscosity | Outlet Motor Phase Fre- Rated
T volume | pressure | range o - Al
ype Exoar | AR | olafuiol I-%S.t:.E EPET? Output f quency | voltage | Current
G =a4 = ot PI=
MP MP S Poles | ™ 1™ == e
cc/mln a a W = Hy v A
200 0.54
250 0.8 30 ) 3% 50 380 0.31
1/8 415 0.27
03 20 ~ ~ 50 /
25 00 | (29 4P 220 0.6
300 ' 60 380 0.35
440 0.30
200 0.54
420 08 30 5 3¢ 50 380 0.31
1/8 415 0.27
05 2.0 ~ ~ 50 /
25 1000 | @ 4P 220 oe
500 : 60 380 0.35
440 0.30

pump for all, all for pump



Oil Lubrication pumps
Monitoring controller type

I

External dimension 8= Applications X2

« A8RAl : O
o 2XQQU : S| — 32cSt 0|5}
57| — 68¢cSt olat

AMGP-03, 05

o XHE
SZE =R - =0|E (ALDC)
7|01 : Seel
83 Seel
Ak Seel
N S| : Pastic (PC)
Zel= e =20l (ALDC)
+ AB2L : 80°COlot
c SREA L HEA/ HA
« HloiSA : ¢l2 Montoring
- U AQIR| - MEBAIRS
- UAOIX| : RG-35K

(25)

» Type of fluid : Ois
* Recommended oil

Net Winter — bebow 32cSt
Type A B © D E = G H J W:i'g_?t Q mmer — belbw 68cSt
=2 * Material
Kg Motor flame : Aluminum(ALDC)
03-T03 | 280 | 300 | 320 | 290 | 135 | 145 |95X145| 24 | 160 | 9.6 Gear pump : Seel
Reservoir : Seel
03-T06 | 300 | 320 | 346 | 310 | 195 | 210 |9.5X145| 24 | 160 | 11 Pate - Seel -
Level gauge : Phstic(PC)
03-T12 | 363 | 386 | 416 | 373 | 234 | 240 | 11X16 | 24 | 160 | 13 Reief valve - Aluminum(ALDC)
» Temperature : below 80C
03-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12X17 | 29 | 160 | 17 * Oi Supply method -
Measuring method
05-T03 | 280 | 300 | 320 | 290 | 135 | 145 |9.5X145| 24 | 160 | 9.6 Proporfonal mehod
* Controler mehod : Monitorng
E * Pressure switch : Ogtion
05-T06 | 300 | 320 | 346 | 310 | 195 | 210 |9.5X145| 24 | 160 | 11 reeare oo o
05-T12 | 363 | 386 | 416 | 373 | 234 | 240 | 11X16 | 24 | 160 | 13
: ion Z2ME
05-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12X17 | 29 | 160 | 17 SEHE CONMHETIN =

#3—-PRESSURE S/W

- 1]12|3|4|5]|6]|7
Circuit diagram 22X L\l L\l

Hl2lResistive method) o HaklMeasurng method) R FLOAT PRESSURE
—= OUTLET S/W S/W
[ MW= :
| [H | 1 l2|3]4]s
| —— l
’ _ g ’ FLOAT
. | S/W

o oLy —



Oil Lubrication pumps

AMGP-03C/05C Series

B AMGP - 03C, 05C AlRR REHI= 2t 7|ARA0 HER| RERE

29617| Yok S45tA mokl TER neRr MEO|ch B0l ©a} bl
BlAlo2 AKS5I7ILE E= F2 #s (ARD-340, 350, PVO Et)el 8!
Slo1 Tz WEE AISEIC) (A0 ARSE A= ot Bt Bt

ook 2tk

3M2 1 30, 220V, 508 0Hz
3M3 : 3¢, 380V, 50/60Hz
3M4 1 30, 440V, 50/60Hz

TZ : Bottom mounting

Pressure switch (Option)

AMGP - 3M2 - 03C - TO3 - TY S

Voltage division J

HH

Pump divson ———
Hopg
03C, 6C

Reservoir capacity
B3 82H0)

TO6 : 6

T2 :12, 720 : 20
Reservoir type
SIEIA

TY : Wall mounting
B 2R

Het S}

22 AQk| (24

= AMGP-03 and 05 type are designed specially to lubricate a high
precision and high discharge volume at every location on the machine.
It can be used resistive method or measuring method with measuring
valve (ARD-340,350,PVO typel.

m Whenyou use it measuring type, the venting valve have to be attached.

" %EE %5_17 b ;1’3?'0* UREES o UCH B ZE6I0 #E m The pressure can be controlled because the relief valve is attached, and
FLE 40| olsict itis easy to assemble the lubrication unit with tank.
u O] HIm= it HER N HARTS siA= OFeCt m As this type is an intermittent pump, the continuous operation should
u 8= A0, QP A, A, NS, Tu U mpetn g Pepronibited
ol 22| AFZEICt ® This pump is mainly used machine tools, printing, foods, injection
machine, press and various industrial machine.
Phase 1@, Poles 2P
Discharge | Working | Pressure | ,, . ase 1, Poles
Viscosity | Outlet Motor Phase Fre- Rated
volume | pressure | range ’ — ALA
Type esozr | Al2ols | olzwmol ABEE | EET Output o/‘" quency | voltage | Current
cc/min MPa MPa el l =4 Poles | It~ e s
W =ES Hz \% A
250 08 0 . 30 50 200 0.54
03C 20 ~ ~ (o) 50 /
300 23 1000 4P 0 | 20 | 06
420 08 0 e 3 50 200 0.54
05C 20 ~ ~ (@56) 50 /
500 23 1000 4P 0 | 220 | 06

pump for all, all for pump



Oil Lubrication pumps
Monitoring controller type

m_

External dimension 2= Applications &

. g2 : Ol
. ZFOQI géﬁl —32¢St Olst

HXI
SZH mR! : 220lE (ALDC)
7|08 © Seel
3 : Seel
] A Seel
S : Plastic (PC)
e wie - 2n)E (ALDC)
« AER2L : 80TOlot
o STaA L HEA/ HIEA
« HofA : giE (Montorng
o U ALQR| : MEBAIRE
« UAOIX| @ FG-35K

(@)

» Type of fluid : Ois
* Recommended oil

Net Witer — bebw 32cSt
Type AlB|c|D|E|F G H | oy Wf;'g':t Summer — below 68cSt
3K; * Material
Motor flame : Aluminum(ALDC)
03C-T06 | 300 | 320 | 346 | 310 | 195 | 210 |95X145| 24 | 160 | 11 Gear pump * Seol

Resenvoir : Steel

03C-T12 | 363 | 386 | 416 | 373 | 234 | 240 | 11X16 | 24 | 160 13

Plate : Steel
03C-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 1217 | 29 | 160 | 17 Level gauge : Pastic(PC)
Relief valve : Aluminum(ALDC)
05C-T06 | 300 | 320 | 346 | 310 | 195 | 210 |9.5X14.5| 24 | 160 1" * Temperature : below 80C
+ Ol Supply method :
05C-T12 | 363 | 386 | 416 | 373 | 234 | 240 | 11X16 | 24 | 160 13 Measuring method

Proportional method
+ Controler mehod : Monitoring
* Pressure switch : Ogtion
* Pressure Gauge : PG-35K

Circuit diagram 22X Electric connection ZM&:

05C-T20 | 470 | 500 | 520 | 484 | 316 | 322 | 12X17 | 29 | 160 17

Hl2{kl{Resistive method) S Hzkl(Measuring method) Q
- CONNECTOR|  PLUG
@ RS @@ Yo @@ : POWER
@ : EARTH
@ @ @ @ ¥ RED 2BLACK
3WHITE 4GREEN

CONNCTOR PLUG D : OlL ALARM
Q@ : Pressure s/w
@ @ @ @ % 1:REF[>) SSZBLSACK
@ @ @ @ 3WHITE 4GREEN

o O wwamseos 24 0]




QLR IRl olsh ASEl= e 2EER HI=M SR A

27t 21, SR/HAT BoF T, LHRE0] LRS! 7RIS 2EER
Ol Zigfolct, 5t A EHHH(ARD Series, PVO Series) ot Z&l6tod

AE0| 7HSSiCE

001 250l A 2LIE{ZI0] 7HSSTt,

Yl Wt Laelo] 2iEEol Bolsta, St 2R

YRPH LiElof

Monitoring controller type

AMGP - 3M2 - 053 - TO06

Voltage division

™

3M2 : 30, 220V, 50/60Hz
3M3 : 39, 380V, 50/60Hz
3M4 : 39, 440V, 50/60Hz

Pump division

o

Reservoir capacity (0 )
7|

Plastic(Standard :
TO3: 304, TO6 : 6.00
SeelOption) : T12, T20

m AMGP-053 type is a kind of intermittent pump in stalling outside
controller. It is used mainly the remote location or many lubrication
spots with measuring distributor.[ARD Series, PVO Series)

m As the pump is installed Relief valve and Float switch inside of pump. It
is easy to control pressure and the oil shortage.

m As this type is an intermittent pump, the continuous operation should

u 0| Hi= 7HA Hus M HERMS shM= QHEC be prohibited.
B 2E= IEPA| QAP A, AETA|, ARSI, ZHA 22BN S m This pump is mainly used machine tools, printing, foods, injection
ofl 92| AtR=ICt machine, press and various industrial machine.
Discharge | Working | Pressure| .. . Motor | Phase | Fre- Rated
Viscosity NEN Current
Type volume |pressure| range AR Out-let Out-put fl quency voltage s
PE | emey uew gy g7 &3 Fo| e o
j cSt Poles | T T A
cc/min MPa MPa W EPN Hz \%
420 "gt‘*XL-E’F’d 50 | 200/380/415 | 0.79/0.43/0.39
AMGP-053 28 | 08~30 | 20-1000 iPTa? y ;.r 90 | 3@4P
500 . Option ] 60 | 220/380/440 | 0.63/0.37/0.39
External dimension 28T Circuit diagram 3[2x
J ~ 255
B &, | 1275 OUTLET
:I g -‘3\5\1 = = H Venting Valve - -
o Qi‘ = —ﬁ; é I

Venting Valve

Relief Valve

160

| 135

1135

15

(220)

40.5 !

Qut—let

245

Relief Valve

/mFlout Switch

&

i

[N

ol ol |

TANK

. pump for all, all for pump




Oil Lubrication pumps
Manual type

ALP-8LF Series

ALP - 8 LF - L

Discharge Volume
EERY

Pump division
g2

Discharge drection

EEF Uet
L: Left
R : Right
D : Doubk
B £3A Lever HI2M ALZ0| ZHHSIHH, M= W7} LHER|O| ARt m This type is a kind of manual lever pump, and it has a check valve
YX =t inside to prevent the oil from reserved flowing.
B A3 ZA2toz EAF Qx| MEO| 20|51 20~40 WAV 28 227} m ltissolightand small that easy location and can install 20~40 points.
7tsalct,

= This pump is mainly used machine tools, printing, foods, injection
B AR S0 HE ZZP | A7, AP IA, AS7 1A S 24E M machine, and various industrial machine.
7|70l Ee| &EEC,

: ! 2y — —
ALP-8LF External dimension 28T Applications &

MERA - Ok
MU 1 SEY| — 32¢St 05t
S| — 68cSt o5t

XA
&3 . &=0|E (ALDC)
S : Plastic (PC)

YA - bl

1.5

1~40

Type of fuid : Oils
Recommended oll

Winter — below 32cSt
Summer — below 68cSt
Material

Reservoir : Aluminum(ALDC)
Level gauge : Phstic(PC)
Ol Suppy method :
Proportional method

600

30~ 1300 Is

/8" |

el e

\\\..'_:}._I ) e |

1.4 .
VIEW “A

o

O mwnnseone 284 29—



Manual type

ALP-7LH Series

ALP - 7 LH - R

Discharge Volume
EERY

Pump division
g2

Hande direction

N -
£F0| Yef

L Left
R : Right
B 3A Lever HIZ M AKEO0| 7HEGHH HITEETL LR HR7t & m This type is a manual lever pump, and it has a check valve inside to
X|ECt, prevent the oil from reserved flowing.
B ES2 AE0| THssi 20~A0MA TR REZST} THssiC) m ltis possible to adjust discharge volume and to install 20-40 points of

lubricating place.
B AE E= UESZTA ARIIA, AP 17, AE7 171 S 245 AP
7ol £ &SEc = This pump is mainly used machine tools, printing, foods, injection
machine, and various industrial machine.

ALP-7LF External dimension 2T Applications =g

AERA Ol
S SEV| — 32¢St Olak

S| — 68cSt olst

YR
3-87 HOLES 845 : =05 (ALDC)
- QU : Plastic (PC)

Eh el |

0.55

(167)

1~40

Type of fuid : Ois
Recommended ol

Winter — below 32¢St
Summer — below 68cSt
Materia |

Reservoir : Aluminum{ALDC)
Level gauge : Plastic(PC)
Oil Supply method :
Proportional mehod

800

30~ 1300

1/8"

VIEW "A"

1.2

. pump for all, all for pump



Oil Lubrication pumps
Proportional Distributor

DB Series

Central
pipe

R

Type

Branch
pipe
X |HHt

Using
pressure
A2t

DB—%M | M8X1.0p

M8x1.0p 0.8 MPa

DB—%PT| PT 1/8

PT 1/8"| 0.8 MPa

External dimension &=

B DB type Hl2A! RHIHOZAM HMEA! HE

o ZBlIK ALZEICE

B Flow unt, Check valve Szt =8I0

Mg

SO HiEt =2 37100 107 ZEX] Ut

DB - 4 M
Digributng points J
=2l P

Screw sze | branch pipe
X|uH2t 74

M:M8 X 1.0p

PT :PT 1/8"

m DB type is a kind of proportional distributor
using with resistive pump.

B This type have 3-10 holes to use by
combining flow unitand check valve.

N1-26.5 HOLES

VIEW "A”

oIS

g q Net
Type . Dimension wei gat\t
A|B|C D E| F| G| N/|[NI 390
DB-3M 3 - - | 30 (M8x10p|95|235] 14 | 3 1 31
DB-4M 4 16 | 36 | 48 |M8x1.0p| 11 | 28 | 13 | 4 2 65
DB-5M 5 32 | 52 | 64 M8x10p| 11| 28 | 13| 5 2 82
DB-6M 6 48 | 68 | 80 M8x10p| 11| 28 | 13| 6 2 102
DB-7M 7 b4 | B4 | 96 M8x10p| 11| 28 | 13| 7 2 123
DB-8M 8 80 | 100| 112 (M8x1.0p| 11 | 28 | 13 | 8 2 145
DB-10M 10 [ 112]132| 144 |M8x10p| 11 | 28 | 13 | 10 | 2 186
f f Net
Type Points Dimension wg%l:t
A| B| C D E| F| G| N | NI 390
DB-3PT 3 - - | 30| PT1/8" |95(235] 14| 3 1 31
DB-4PT 4 16 | 36 | 48 | PT1/8" | 11 | 28 | 13 | 4 2 65
DB-5PT 5 32 | 52| 64 | PT1/8" | 11| 28 | 13| 5 2 82
DB-6PT 6 48 | 68| 80 | PT1/8" | 11| 28 | 13| 6 2 102
DB-7PT 7 b4 | 84| 9 | PT1/8" | 11| 28 |13 | 7 2 123
DB-8PT 8 80 (100|112 | PT1/8" | 11| 28 | 13 | 8 2 145
DB-10PT| 10 | 112|132 |144| PT1/8" | 11| 28 | 13| 10 | 2 186

O wmommeoss 304 3]



Proportional Distributor

AR-B Series

AR

- B
Digrioutor division J

S 7

Distributng points
24l 2

B ARB type2 Hlgt RHHOZAM el ©  m AR-Btypeisakind of proportional distributor
Central | Branch | Using

Tpe ST olse  prEssuE ot ZBBIH AEEICH using with resistive pump.
ZHf 2| RJHH R | AL 4
B Flow unt, Check valve Sat Z&6tH A2  m This type have 1-10 holes to use by
AR-Bx | PT 1/8" | PT 1/8"| 0.8 MPa SHH Hi2 -2 17200 1072 ZEX] Act combining flow unit and check valve.
Circuit diagram s|2Ex
; Dimension Net
s Point wggl:t
20 B 20 (N) A B C sgo
N-PT 1/8 2-04.5 HOLES
2 | / | S B 1| 4 | o 20 | 21
- = B2 2 63 23 43 33
© AR-BS | & L
: B3 3 86 46 b6 45
10 10 B4 4 109 69 89 57
. B5 5 132 92 112 69
/3 Bé6 6 155 115 135 81
2-PT 1/8 ——'—]——
o E B7 7 178 138 158 93
—! o
e | B8 8 201 161 181 105
VIEW - A B9 9 224 184 204 117
B10 10 247 207 227 129
Assemble flow unit AFE o)
!
o -3l
. P
byt |
)66 e g il
1 Mm S © o om m
~ e BRI

. pump for all, all for pump



Oil Lubrication pumps
Measuring Distributor

'\
=

PVO Series

PVO - 4 M

Digributng points

IR

Central pipe screw size

LIAF 74
No mark : PT 1/8"
M8 : M8 % 1.0p
M10 : M10 X 1.0p
B PVO HEF = 7HS 27 AIAH0 ARRSIEE MEE ez M m The PVO measuring valve is made to use intermittent system, and can
Piston Z=0ll 2lslo] FEe| RERFE JHZ6IH 2R $ AEE 47 lubricate the oil by piston stroke.
= F2gs deolct S " . o .
m It is suitable to utilize precision lubricating system because of little
B REO| X} HP A0 HU FE AA 40 AlEICt allowance of oiling.
B A|AE A Al DBY SHiHDE 28610 AR5t m Itis combined with DB type distributor when installing system.
External dimension /&
(B) _ Discharge Using Bore of pipe
: HEX12 Tvoe Volume pressure L
| N _, » ssgz | AgwE | mm
1 3] cc/st MPa (A) (B)
PVO-3 0.03 0.8-3.0 445
PVO-5 0.05 0.8-3.0 44.5
| PVO-10 0.10 0.8-3.0 445 PT1/8"
PVO-20 0.20 0.8-3.0 53.5 M8X1.0P | M8X1.0P
PVO-30 0.30 0.8-3.0 535  MIOX1.0P
BN PVO-40 0.40 08-30 65.0
(A) PVO-50 0.50 08-3.0 65.0
Assemble flow unit AL of) Example ALZ o)
(1) (2) . (3)

TSL-
AR

(.Ik\\\
/I
5 X -

&
"
i

N N7

N\ N7 2N

/§ \f /§

ﬁ\ RN N

.'1\ j % !

\ ) HE;
RO

§ ™

. : Vi 2 ‘
i) | b . . SIENIR
Before Venting Ver* ting Measuring e I

(Sarting pump) {(Operating pump) (Sopping pump)

o O wamrscase 324 33 ——



Oil Lubrication pumps

ARD - 340/ 350 Series

ARD - 35 3 - 223

Division
T

Distributing points
2HH P

Valve classification code
REIE

the oilin front is

B ARD-340, 350 Mz = 7IEM 28 AJAHI| ALSSI=E HZlE @ m The ARD-340, 350 of measuring valve is made to use intermittent
H2 M DAE Az(| o5t HEFo| RESE JEEIH 298 £ 9z E system, and can lubricate the oil by piston stroke.
A HEaw weo|t e i o - B
m ltis suitable to utilize precision lubricating system because of very tight
B Q2P| Qi HOP| X0} MY 28} A|AH LAY X5l allowance of oiling.
Using Bore of pipe Net Discharge
. . Valve
= Discharge pressure ] ] weight Code N Volume
ype Brelirtis Al ota Central pipe Branch pipe == :,Ocemg. -
STy MPa Z 2 X|6H 2 g === cc/st
ARD-342 2 0.8-3.0 M10x1.0p M8x1.0p 115 1 0.03
ARD-343 3 08-30 M10x1.0p M8x1.0p 163 : %
ARD-345 5 0.8-3.0 M10x1.0p M8x1.0p 249 4 0.16
ARD-352 2 0.8-3.0 M10x1.0p M8x1.0p 239 3 0.1
ARD-353 3 08-30 M10x1.0p M8x1.0p 314 ; Lt
ARD-355 5 0.8-3.0 M10x1.0p M8x1.0p Lbh 7 0.6
Example to order == 0) 006 | 006 | 010 | 003 | 003
h ARD-340 wpe T discharge point is 5 and discharge voumes are. Order code 2 2 3 ! 1
ARD-340 EIZ0IIN 95 2R 578 F2 SluAte o, Order No. ARD-345-22311
Operation Description & X
The oil allocated for When the control In release of main
the lubrication point lubrication pump line pressure, the
isin front of the begins feeding oil, pistonin the
piston in distributor. the piston is moving, distributor returns to

its initial position,

delivered by main allowing the oil to
line pressure(8~30bar) flow into the space in
to the lubrication front of it.

point.

—— . pump for all, all

for pump




External dimension &=

Oil Lubrication pumps
Measuring Distributor

D M8x1.0p
17
HEX 12
1 r’
N-26.2 HOLES T - T
T O
| L 1
: | B3 1 w
— e L |_5 Type | A | B | C | D
L _ D : _F_ ™ 2 .
S T 4
342 | 48 | 24 | - | 17
2-M10x1.0p £ 8 lss
B | e 343 | 65 | 325| 17 | 34
A 345 | 99 | 495| 51 | e8
D M8x1.0p
17
HEX 12
L i
] 4 [
ata +
3
] J_ o 3 Type A B D
R
352 45 225 17
S - 353 62 31 34
2-M12x1.0p B \Le7 Hote < |J 1
A 20 355 95 475 68
Example for using Distributor connection AR Ofl)
| ARD-30Series | ARD-30Series .
' :
% t 4 4 4 }
: t * @ &i 1 1 |
ENE E ==
2 I ] :? _? &
X ¥, il = S N
% s g o~

o

O wwamnseoe 3t 39—



Oil Lubrication pumps

Flow unit - AJB, ASA
AJB - 0

Unit division J
FLE 72
Classified number
2FHs

B Flow unit= H|EK 2H7 |2A DB StHHDE eI A2t 4= Q= m The flow unit is a proportional distributor, one is AJB type to combine
AJB 1t 7 [AE SHAN ZEEl= ASAZ0| T DB distributor, the other is ASA type to set units at the oiling points of

u Seiso] me HiAslo]l 2SVt O[SOIKIN Myl HaeE wame  Tecnesde

HiZ =7} sich m It lubricates by code number of discharging volume, the code number

B SHO| B2 WSHIAZ SI%OM Check vaverh LIAEI0] Si=ix| o increases, the discharging volume increases twice.

=Lk m The flowing direction is marked and the check valve protect the
reversed direction working.

AJB Series Flowrate | Usingpressure | Viscosity

_ Type | 00N g A e

i % MPa cSt
AJB-03 03 1.2 0.15~20 20 ~500
e B AJB-02 02 25 0.15~2.0 20 ~500
‘F of 2 AJB-0 0 5 015-20 | 20-500
1 AJB-1 1 10 0.15~2.0 20 ~ 500
ol s || . . AJB-2 2 20 0.15~20 20 ~500
T e |7 [ ws | AJB-3 3 40 0.15~2.0 20 ~ 500
i ) AJB-4 4 80 0.15~20 20~500
AJB-5 5 160 0.15~2.0 20 ~ 500
AJB Series Flowrate | Using pressure | Viscosity

W Type CodeMo- | wetis Arera: He

MBx1.0p PT 1/8 = 0/o MPa CSt
J ASA-03 03 1.2 0.15~2.0 20~500
—

INLET { _ Il OUTLET ASA-02 02 2.5 0.15~2.0 20 ~500
—= H‘ o - —= ASA-0 0 5 0.15~2.0 20~500
i S ASA-1 1 10 0.15~2.0 20~500
. ;. ASA-2 2 20 0.15~2.0 20~ 500
T es | 7| 8 ASA-3 3 40 0.15~20 20~ 500
. (25.5) i ASA-4 4 80 0.15~20 20~500
ASA-5 5 160 0.15~20 20~ 500

Before instaling this system, check and
handle carefully the direction of oil flow.

If not, it is possibke to damage the
pump by excessive turning of screw.

. pump for all, all for pump



Oil Lubrication pumps

Oil Reservoir
[ 180 :StndardType .8
(180)
|
2.0 0
- A-RYUNG L
bl N
s %
L g 180
smzn - O1A(F), O1M(P)
jua) 12 4-ME:0.8p 013(F), 01INS
(156) 146 013(F), 015(F)
| 300 :SendardType 103
- . | B 400
—— r _hf_-:#_ _ ‘c’é &
1 e
A-RYUNG i @& P I < B 01AF-TO3
W = \ 01MF-T03
(273) I L :ﬁ s 025N
025NS
| 300,600 s AMGP20ONS T3 | T06
s (243) . = 115.5 1155
| '. | _ 4.0 0 70 0
I %’ 9
el Bz i s il 3.0 0 6.0 0
L i ¥ 238 142
i || = ! 4
(== = ) 4 235 217
w0 | . 200NS | 200NS
-T03 -T06
4-K HOLES B-MBx1 PT 1,/4 SOCKET
- / w — B ZHE Material
4+ + [ 4+
| [ * 5 Tank
d o : Steel
il * QA Level gauge
- 4 e : ZBAE| Plastic
i1 =
< fal
TO3-TY 50 30 280 | 300 | 320 | 24 | 160 | 130 | 145 | 65 | 140 | 9.5x14.5
TO6-TY 8¢ 60 300 | 320 | 346 | 24 | 160 | 190 | 205 | 95 | 40 | 9.5x14.5 | AMGP-01N, 02N
T12-TY 139 12 9 363|386 | 416 | 24 | 160 | 228 | 234 | 114 | 40 | 11x16 | AMGP-03,05
T20-TY 23 0 20 Q 470 | 500 | 520 | 29 | 160 | 310 | 315 | 155 | 40 12x17

Oy p—

o



Oil Lubrication pumps

Oil Reservoir
TZ type
&—MBx1.0y PT 1/4" SOCKET o
+ 4 K/ - f@ — u AHE Materl
. —
. @_ J * &3 Tank
9 J : Seel
4+ %+ @—4. * Q] Level gauge
g nnnnn T --1;-!;—:-—--‘ i |l Itﬁ-|l 8 : %Ebg Phstic
e o &=MBx1.0| G
A
. : : Standard
Type | TotalCapacity EffectiveCapaciy | g | ¢ | b | E | F | 6 | H | J Applicable pump
T03-TZ 50 3¢ 280 | 153 15 168 80 130 | 200 65 140
T06-TZ 8¢ 60 300 | 153 15 168 | 120 | 190 | 240 95 40 AMGP-01N, 02N,
T12-TZ 13¢ 12 ¢ 363 | 153 15 168 | 160 | 228 | 280 | 114 | 40 AMGP-03, 05
T20-TZ 23 ¢ 20 ¢ 470 | 159 | 15 | 174 | 240 | 310 | 390 | 155 | 50
TZ1 type
) ‘ ® AHE Material
. g s * B3 Tank
o) i : Steel
— — —T—1 * R Level gauge
=1 f; B | | : E2AE! Phstic
. 4-e95 . E N
. . : Standard
Type TOtaLC_;E:C'ty Effecg\f gax[:auty A E F G Applicable pump
ST TR ST &[‘g E‘,‘E
T12-TZ21 13 ¢ 12 ¢ 363 163 228 303 AMGP-03, 05
T20-TZ1 23 @ 20 ¢ 470 245 310 410 AMGP-03, 05
TZ2 type
E ] B THE Material
. * 843 Tank
: Seel
: * Q] Level gauge
J 3 T T : E2AE Phstc
. . . Standard
Type TotaLC;i?th Effecgvf gajzaaty A B C D E F G Applicable pump
T40-TZ2 50 3¢ 450 330 40 370 285 390 220 AMGP-03, 05
T60-TZ2 8¢ 60 600 280 50 330 375 540 310 AMGP-03, 05

pump for all, all for pump




Oil Lubrication pumps

o
Accessories
aiE A B -
(ouTLEn |
e ? ALF-8LF-4 | @4 1 3.0 4 | @b | @b
- ,Jg ALF-8LF-6 | (36 1 3.0 4 | @6 | @b
o1 1/8" ) ;1 Line filter which is installed on lubricating line is used to remove
S foreign materials of and to extend the life of machine.
L It can be installed on line without special devices.

[13.5_ 4 /(_"Ptm
g _7?4} I ALP-6Y @6 3.0 20 | M8x1.0p | M10x1.0p
o ; N ﬂ:’ y ? Disch L c sy [reo—— .
R R ischarge volume Curves i O 7 W D ¢
) i A | o TN |

j I FS-A "4 Paint of cantoct
1 !
e | —— AC250V 033A
i L FS-B "B Point of contact FS-A DC200V 05A Open
1 — — o ) AC250V 0.33A
- ] FS-C <" Point of contact FS-B DC200V 0.5A Close
b ;4—1—- cou o2 i AC250V 0.25A )
f__;ﬁ_} —o— e FS-C DC200V 03A Change-over

—
M

[ < AC250V
; PS-15 |0.15+10% DC32V 1.7A Open

:_IJ_T, o 9 AC250V
2 Nm . PS-11 1.1+10% DC32V 1.7A Open

HEX 27 / HEX 22 /
PT 1/8" /L'J :,4 PT 1/8" /

(26)

PG-35K 0~3.5(0-35)

(62)

.I.GJI

o O msmmesse 384 39 ——




o~
o
=1
L1 L2
Hex /L L3
I
§—— ] ¢
L1

L1

12

L3

8d2

T I

vd4

L1 L2

L4

. pump for all, all for pump

TA-4

M8 x1.0p

BsBD3

TA-6

Qb

6.1

M10x1.0p

10

BsBD3

TAD-4 5 4 6 M8x1.0p BsBD3
TAD-6 Qé 6.1 7 4 7 13 |M10x1.0p| 10 | BsBD3
TAD-S4 @b 4.1 5 4 6 12 | M8x1.0p | 8 | SUM24L
TAD-S6 @6 6.1 7 4 7 13 |M10x1.0p| 10 | SUM24L

AL-4

BsBD3

AL-6

5.8

BsBD3

4.1

1.7

BsBD3

1.7

BsBD3

TBD-4

B

4.1

6.5

BsBD3

TBD-6

7.5

BsBD3




Oil Lubrication pumps

Fitting

TD4-1/8KT | @4
TD4-1/8K | @4 | 10
TD6-1/8K1 | @6 | 10
TD6-1/8K | @6 | 10
TD6-12K g6 | 10

PT1/8" M8x1.0p BsBD3
18 PT1/8" M8x1.0p | 11 BsBD3
18 PT1/8" | M10x1.0p | 12 | BsBD3
18 PT1/8" | M10x1.0p | 14 | BsBD3
18 | M12x1.0p | M10x1.0p | 14 | BsBD3

| 00| | 6O |

W
\|_|

.'.._ ..‘
/ Jr_ﬂ_l TD6-10 @6 | 10 | 6 | 18 | M10x1.0p | M10x1.0p | 12 | BsBD3
12 /I N TD6-12 @6 | 10 | 6 | 18 | MI2x1.0p | M10x1.0p | 17 | BsBD3
L1 L2
HEX L3

TH4-1/8K1 @b 13118 |10 | 8 | 18 | PT1/8" | M81.0p | BsBD3
TH6-1/8K1 @6 16 [ 22 | 12 | 10 | 22 | PT1/8" |M10x1.0p| BsBD3
TS6-10K @6 18 | 242 | 14 | 11 | 25 | M10x1.0p|M10x1.0p| ZnDC
TS6-1/8K @6 18 | 242 | 14 | 11 | 25 | PT1/8" |M10x1.0p| ZnDC

T1-1/8K1 12 8 21 12 PT1/8" | PT1/8" | BsBD3

TC-4 @b |145| 9 | 235 | PT1/8" M8x1.0p 10 BsBD3
TC-6 76 14 | 10 | 24 PT1/8" | M10x1.0p | 12 BsBD3

o O msmmaeoie 404 4] ——



Fitting

T1

HEX

?d2

. pump for all, all for pump

TG-8 4 5 " M8x1.0p 12 BsBD3
TG-10 g 5 12 M10x1.0p 14 BsBD3
TG-12 5 6 13 M12x1.0p 17 BsBD3

TG-1/8K 4 7 "

PT1/8" 12 BsBD3

TN-4
TN-6

41110 | 6 5 | 13
61|12 | 6 5

BsBD3
BsBD3

sl
@b

M8x1.0p 10
M10x1.0p 12

RD-340 4

14 26 M10x1.0p BsBD3

RD-350 4

36 M12x1.0p M12x1.0p 12




Fitting

26.5 HOLES 2d1

L4
L3

L1 3-T1

LS

L1
L4
|

Oil Lubrication pumps

30

8.5

9.5

235

M8x1.0p

ZnDC

30

8.5

9.5

235

M10x1.0p

ZnDC

BAS4-8

26

25

M8x1.0p

M8x1.0p

M8x1.0p

BsBD3

BAS6-10

30.5

22

29

16.5| M10x1.0p

M10x1.0p

M10x1.0p

BsBD3

BAS4-10K

37

25

M10x1.0p

M8x1.0p

M8x1.0p

BsBD3

BAS6-12K

40.5

22

29

16.5| M12x1.0p

M10x1.0p

M10x1.0p

BsBD3

BA4-8

b

21

25

M8x1.0p

M8x1.0p

BsBD3

BA6-10

a6

25.5

22

29

11.5

M10x1.0p

M10x1.0p

BsBD3

BA4-10K

32

25

M10x1.0p

M8x1.0p

BsBD3

BA6-12K

8oty

22

29

115 M12x1.0p

M10x1.0p

BsBD3

o

O wwamneos 424 43—



Oil Lubrication pumps

AOML-3000 Series

External dimension 28T

FILTER & RE' UNIT
SOL" VALVE
| (295} )
180

CIL_CAP & STRAINER

4-99 HOLES |_

180
— AR purLET(as)
/" _OIL OUTLET(#4)

(325)

2-p7 |18 |

222

—_ . pump for all, all for pump

B AOML-3000¥ Qi miste E| "z} ZHE(0f

QUR| ek Air RiE

0I2s101 Ci

E= CodantE

Nozzle Jet2 Sot0 BAtAIP = AZ[0] AAH

OICt,

B AOML-3000CE2
o2k EEARIS

CIXIE MOEA} LiEE Ala

{HESIA| S 271 U,

B 3 BL2= 24T 7[AEAIQ] Chain, Gear, Troley
conveyer 52| 20| 2E0|H, ZalA Y ¢
Roll feeder, AE719] 01 =X S0 2| AR

ot

B L5t Tapping, Driling machine & S217[7 24

AOML - 3000 C - 220

Reservoir C apacty
=3 g2t
Controler

HEEY

No Mark : Without
C : Buit=in
Voltage

it

m AOML-3000 type is a kind of oil mist system,
without pump, spraying oil or coolant by air
pressure with nozzle jet.

= AOML-3000C type can be easily set the
discharging time by inner digital controlling

system.
= The main usage is to lubricate chain& gear of
machine, trolley conveyor, press mold, roll

feeder, separating paint of injection
machine.

m ltis used tapping, cutting of drilling machine

TIEAl B8 2 HAZ0oZ & M5t for oiling and cooling.
Working :
Type Prf:;ﬁj re I?)zs:art\:,ict))l/r Vin;OESity Vol;gije Controller W,:iztht
ALE of = oSt v TEZ2 =2
MPa 0 Kg
3000 0.1~03 3.0 2~200 | 110/220 X 4.7
3000C 0.1~03 3.0 2~200 | 110/220 | Built-in 6.0
* Caution

Keep the ar pressure down to avoid tank broken causing higher pressure

Air 21210] L

o

o—

"= 71 1}

= T

294 002 ABY Ol5E FAIE A,

i
4

17,5 |

)

a&{;%@ . F@::m:s:’mm: o<

PT 1/B7(AR LET)
B 1,0p(OR MLET)

2=95.5 HOLES
FLOW CONTROL v/

gL

Type Etandard Oilin-let Airin-let L1 Net Weight
mxmm | euem | ofojyu? (mm] zz2tg)
JET-250 250 b @6 250 153
JET-300 300 Ol a6 300 172
JET-400 400 Bl @6 400 210
m SEtxA we sl Ao 9o Of 9z B Itis possible to control the discharge volume
ZH0| 7ksslict, because it has control valve inside.




Panel description

AW

Bowkr 1> ¢

ML— 30000
CENTRALIZED UBRIC TION SYSTEMS
MINUTE \ li SECOND

dsl | LIS

INTERVAL TIME
Digital Control system

@!M

: Feed buton
: Reset button
: Mode button
 nterval FND
: Discharge FND

Single jet circuit view

DISCHARGE TIME

OO

Efo|H &3 Y

1) HEE
MODE m : &%AIEL OlF, =R

A SRISE

v: Ai||_HF'_|
AQ@H Mode "®W' buttons 13 +2H
nterval tme2| =XP 27 20 o]ulf (DA
‘A" button2 F=2H APt Bkl @H
¥ buttong FE2H SAPH ZASITE Rlok=
Interval time?Q| 0| 2ZEH CA| GH
Mode "®" buttonS 18] 52H Discharge
tmeQ| £APt Ze{2|0f ojui= OMEDIX|Z
DHA" buttonS F2H $xPt S7k6I2 @
H W' putton® $2H X7t ZASICL
#l5k= Discharge time2| AZE0| 2AZEH Q@
& Mode "®" buttong =2 8% MODEE

ik Lt =o)

B) M¥=% 10= O|Lipll OfRA ¢=o] glo™
AF0| AF= HOZ 7HRE|N A=OZ 27
HEHZE HEk=ICH

C)"A", “¥" putton2 18] £

OHIFI Ao &

miOich 15=XY

=7 9] O CiasiiAf

2X0| %%Ol AEIAM "RESET" buton2 &+
EH HHE SPRTIHEW CIA| AIRFEICE
3) FEED button 71S (=S 8%)
20| Fieisel MEIY FEED' uttonE &+
2H HAR| "FEED'7t BEALIH “QPHH—
1}71|°*0| F21 = S0 0io] EEFE o

2 SROIIALE 1 BoBIA LS & O'Ef

Oil Lubrication pumps
- Oil Mist Lubrication

K
_~

Setting instruction of digital timer

1) Howto set the timer

MODE m : Starting set, Move, Finishing set.
A :Numbers up
v : Numbers down

AJlf you press the button” m" one time, the
interval time mode begins blinking. " A"
button increases the numbers to set the
interval time and " w "decreases the
numbers. When it finished, press " m"button
again and the discharge volume time mode
blinking, “ A"button leads to increase
numbers and “w " to decrease the
discharge time. Press again the MODE " m"
to exit the setting program.

BJIf you don't press the button within 10
seconds, the timer recognizes the setting
time is ended and operates  automatically.

C)Whenyou press“ A"," w"button  everyone
time, every one number increases(decreases).

2) RESET function

When you push the "RESET" button  during
the operation, the mode returns  to starting set
mode.

3) FEED button( manual oiling)

If you press "FEED"button during the
operation, the oil discharges regardless the
setting mode, also this button can  be used to
remove the airin pipe or by manual.

4=05 HOLES

oL CﬂP & STRNNER

SOL' VALVE FILTER & RE' UNT

AR INLET

7“’?"-.@

nozze veT / . l -
ar vose /) 2-pr 18 18| = 2-FT 1/4*
(UUTI-E"‘) @. NIPF'LE
Ol HOSE n
15
=
==
[T 1]
Multiple jet circuit view g
OIL_HOSE NIPPLE '..
MR_HOSE \ _FILTER & RE' unT
NOZILE JET i \ /
- = DIL CAP & STRAINER \
@ : A AR INLET
NOZZLE JET . - dn -
ar wose [/ z-p 8 /S|
“foumLe)
oL o/ T conmouien
1 B
i
u
45
v“ WwWw.aryung.co.kr + —



AOL 4 Series

J
0

OMARS ZX| U A|20|

Mixing valve point

AOL 4 - M5

Pump division
Hopg

S A
o e

1]

m AOL Series is high performance for lubricating and cooling efficiency
for high speed spindle bearings.

m The controller in cabinet automatically operates by interval time so
thatitis can to check the troubles easily during working time.

B Z7RF QU 287 Bibls 2adiE= HEN RE BifHo=
12 HAT |7 AR AAH AN 0§ AE6iCE m As measuring type of distributor, Mixing valve with air and oil mixed is
suitable for high speed operating machine.
Discharge . . Air . .
Type volume Dlsgi_:i_elzlnt Pressure \fféoj:té Lu&;%aot;on Control Air Air-0il
ExQat =T oflo] ered o= oot Ll Method In-let Out-let
co/et (Air+0il) MPa cSt Q& HiAl
B _ B B Measuring Digital PT1/4" | M8 x 1.0p
AOL 4 0.03~0.16 2~6 03~05 10~100 izt Al Clx|e (8] (34

External dimension &=

Circuit diagram 22X

155

(285)

LT}

g

(130)

0Ly
T (198)

VIEW "A"
—

»:on
> AR
B MR+0IL

s e

TV

o= oy

J TYTrY
? |... Aa0e, OUTLE

I
|
|

-
AXEXE

Electric connection ZM&=

/fELECTR’IC WIRING DIAGRA

)

pS

AR SENSOR FLOAT S/% AIR SENSOR
T | | FAULT CUT
o engee  oERR Mp B
3 A AT ATHE AN M - BEAMY
B:B EHE B Al - MEAlY
FLOAT 5/W
) 5 1 AIRSE MOTORZE AZ&|0] HE Al - MEALY
TR 2 @ AIRS NOTORE #2|3iM SIF Al - EEAR

|Ia|17[13]15|14|13|12[11i1’ozj-9|a|r [6]s]a]a]z]1]
b

. pump for all, all for pump




Oil Lubrication pumps

.

ARD - 440 Series

® ARD-440% (Mg valvel2 2712t 228 SBAl EABl=
A R BHPIORA 12 HLV ZRI] ALY TA0 4L HEhic

B RERE Airet 8 S22 IR REFEC| 2EMSS ARl 1%
3|3el= 7|ARX| § Oz QFEE RE0| 0|R0{EICH

B Ar ZEHO| LHEIO A0 REEY H S0 U2 750 S ZEO|

Air-Oil Lubrication

ARD - 44 3 - 223

Divsion

=

Digributng points

S 74

Valve chssification code

fatac

mARD-440 type is a mixing valve spaying oil and air together. It is
suitable to use high and precise machine system.

m |t maintains low temperature to operate high speed operation
provided air and oil.

m This type has inner the air controller to adjust easily air pressure

e fslct, according to usage and lubricating area.
Using Bore of pipe Net Discharge
. . Valve
T Discharge pressure weight Code No Volume
P Points JNE=XI =" Central pipe Branch pipe =af . EH;' E= 9Ff
Cr=ES MPa Z 2 X|6H 2 g == cc/st
ARD-442 2 0.8-3.0 M10 x1.0p M8 x1.0p 310 1 0.03
ARD 443 3 0830 M0 x1.0p M8 x1.0p w0 o I
ARD_M4 4 08_30 M10 X’|0p M8 X10p 490 AAAAAAAAAAAAA
ARD-445 5 08-30 M10 x1.0p M8 x1.0p 580 3 0.10
ARD-446 6 08-3.0 M10 x1.0p M8 x1.0p 670 A 0.16
Py == |
Example to order == 0i) 006 | 006 | 010 | 003 | 003
h ARD-440 type if discharge poit is 5 and discharge volumes are. Order code 2 2 3 ! !
ARD-440 EI2DIIM 2= QLB EQ| 5E =2 SRS IIf, Order No. ARD—445-22311
External dimension 2I&8x
6 Waas 7. 3 Discharge
p b b 4 |oumer h Type point N W L
f %] E%] , 2 S
: T 2-96.5 HOLE 2
[ﬁ] [ L] -, LI ARD-442 2 17 | 39 | 51
ag A i !
Eoelg B oo i 1% ARD-443 3 17 | 56 | 8
t <—INET(OL) | | @—
LR = |, ARD-444 4 17 | 73| 8
17 | (Nx3=51} 30
L L 18 ARD-445 5 17 | 90 | 102

o O wmammscare bot b



Grease pumps

AGP - 15 Series

B AGP-1582 A% ©3A J2lA Hug M gFHA7 ChA =1 2742
S50 SEBHH 12Al RUMARU-R EFRURH E8510f 03] Aol R
20| 7K53ict,

= AGP-EMES A RIORIAIZH SO 9jsio] HES 20l ol Hofet
2ot

= AGP-IECES Xbibl LiEEl TR ESaiof ofsl K| Al £
Alzio] MO0 e AlZ0fl XHEOR S8t 0l0fzIrt,

B AGP-15MCH-CT= 7I1ERIX| wakAl JelA Huz M JelA IhE
Flof ©2 AREEE H7RIZ0] glm, FIERIK| MES WET Halsh|
o = QIom FREOT kRSt BHS SR 4+ ok

m I Eeo] 2Rl SER Mt MIAPI 2 45 Mep i S 28
=7H o2 e

AGP - 15 M - CT - 110

Pump division
R

Controler
HIOTEA|

M : None

C : Buit-in Digtal

Filing of Grease
Al

No mark : Refiling
CT :Cartrdge

Voltage (V)
et

10 : 110V
220 1 220v
DC : DC 24V

m AGP-15 type is a small electric grease pump used less oil points and
close place. It can lubricates by combining with single line distributor
(ARU-R type).

m AGP-15M has no controller in the pump itself, can adjust outside
controller. The AGP-15C has a digital controller, so the interval and
discharge time can be adjusted by this controller to lubricate
automatically.

m AGP-15M(C)-CT type is a cartridge pump and it is easy to change the
cartridge in a short time without refilling. The cartridge type is more
economic and clean surroundings.

m This type is used mainly press, conveyor, crane, special vehicle, ship,
paper, and various industrial machine.

Discharge | Working | Pressure | Reservoir . - Net Phase 1¢3, Poles 2P
T volume | pressure | range | (Cartridge] NNLG| Ou;let Reﬁtlrl: ng weight ~ Motor | Fre- | Rated |y rron
ype Exo8r | AlRot | otagl capacity 0. EZ&=T1 | metho = Ou_t-put quency | voltage o=
cc/min MPa MPa kg W Hz A
15M 12 o 95 50 |100/200| 1.8/0.9
10.0 2-12 20 #000-1 | 1/4" Filling 90
15C 15 9.6 60 |110/220| 1.8/0.9
15M-CT 12 ) 8.7 50 |100/200| 1.8/0.9
15C-CT 10.0 2-12 0.7 #000-1 | 1/4" |Cartridge 90
B 15 8.8 60 [110/220| 1.8/0.9
Setting of Interval time
Discharge Time litemal Time B 0| Hx= A% DEE SHOE AlSst= 72l m This pump is an intermittent grease pump
(E=A1ZH (7¥3) XIX| AJZH Al JelA o2y o7t E28 20t 610 used a small motor. As a result it has high

1~10sec 2y F2min O|Af

11~30sec Il

o

t
31~60sec U Fbmin O &t i

M

|

il

il

61~99sec 2l
sec j S8 517 =it

oF 10min 0|Af

ASA ZEPIM 22 &

ol oA S=et 2" H

JECECEEY
RWI7I2 Aok strt
oF3min 0ff m 7K FRAIZI0| FOB DEl| WeAzio|
£2 20| LB EIf Ol LSO 3
| OLIR|O] OJsH ZEP} RSO FK| 5
ek D2 0| AMOM ChA| Al X

temperature at starting so it keeps sufficient
interval time (refer the setting of interval time
onside chart)

m The motor is automatically stopped when the
interval time is shorter by the high
temperature. But it works normally after the
motor cooling

‘ pump for all, all for pump



Grease pumps
Electric Drive type

External dimension 2I&= Electric connection ZME

CONNECTOR|  PLUG

©®O)|©0

D @: Power
¥ D:Red @ : Back

Precautions for different AR A| SAEH

BAGP-153 Jal Eoofl= ez #egt LA
O AFE s XS & QO AREYEE =2
=7 H%elH "ol LIMO| Xolg 4~ Qen=
A5t g MEbHof Sich

B =7| Hi2 AR Al 2ozt HZsk7| Holl Air
ventE§ B YIS AFAIA AtV € ©F F 2|
AL LIQE= AE 201 F ikt Hzsok Stk

B 30| MHER U5 EZAEIOR |0 QUL Al

I slet Exolls ThAeE2 Ha U MA Al 2

| FokHOF ik

g JelA= Lihum ASC2l NLGI No. #000 ~
#1 o] TS URR| TJARES ARSE A

B L2 £30| J2lAeL E86I0] AKSSHA ElH 29
7} skt BHSol ol HEE & Qlon=R E3t
SI0] AfSots S Aok sict

d x JelA XY F1ER|X| w3 YHE2 60 HOK|

475

22 . =E

0!

fla]

u
> o

m AGP-15 grease pump has a relief valve and can
adjust pressure. If the pressure sets high, the
endurance of the pump will be down. So the
pressure keeps proper.

m To pipe first, the air venting, working the pump,
should be done before assembling distributors
and then combine the pipe.

m Even the reservoir material is strong plastic, you
should be careful to clear or refill the tank after
usage with thinner or other chemical liquid.

m The using grease grades are Lithium, NLGI
No.#000-1, and used clear and good quality
grease.

m I the grease is used with mixing different grease,
the grease is stained and changed the quality of
using grease by the chemical reaction.

3 Refer the page 60 how to fill the grease and to
exchange the cartridge.

o oL A —




Grease pumps

Panel description

@\

Y
\

\

< Power Lub> (€

TV Rheinland

AUTO G}xEAséamgﬁﬁ%

HOUR SECOND

gds| || LIS

DISCHARGE TIME

G

INTERVAL TIME

Digilul Control system

l

L @

(2
3

: Feed bution
: Reset button
* Mode button
: hterval FND
. Discharge FND

(GRORSNORS

Efo|H &3 U

" AR
Ihterval Time : 1~29h 59min
Discharge Time : 1~99sc

* Eio%p

15M(C) : 15cc/min = 0.25¢cc/sec

1) Mz

MODE m : &FAIEL O,

FEED A : $x2&

REST ¥ @ 2=XLHE

A) NTERVAL TME AH(Imin~29hr 59min)
@ "MODE' BUTTONS 18 %=2H
NTERVAL TIME At ZEi4=2Ict oful
ol FXR| 2Xl= AlZIS LIERHH Z|cH
20ARZIX| MEl JHsstct Azt ME2

AR

FEED' (A).RESET(Y) BUTTONSZ TIME
= 3¢ AlZICH A Huy Xp2| &F0| ELiH
MODE BUTTONS =2 CIZ7te2 olsst
0 AlZis &%l

B) DISCHARGE TIME A& 1min~99min)
AlZb 30| 2AZEH @ ‘MODE
BUTTONE CiA[ 18] S24ct J2H M

7} DISCHARGE TIME OllA Z4E2{2Ic}, 0]
1 EXB| £Xk= E(min)2 LIELHH S|cy
AX TIME= 59min7EX| Z7tsolch TMES]
%élg ‘|t¢-|§>}ﬂl. =0 I‘F
C) 3= 10= O|tioll ot=& =o]
oM MF0| ARE A= 70 X
oF 28 HER FEkEr

D)"A”, “¥" putton2 18] £ Mok} 1

AW F dolH AL F2u Qo
Z

o g2

2) RESET 7S
70| REEel AR RESET" button
2 F=2H MHE STRVIMERTE THA] AR
=t

3) FEBD button 7S (3 3%
20| Fisizel MEfoM “FEED" buttong
FE2H HAIHM "FEED7I EAIEZH AF
AlZtbs ZAgo] F21 = S0 i)
EEFrt
Z7WhtE MRG0 ELel AirE HHekH
i ZO0lskAl At

4) Oi 2= ZH (Otion)
HIZLHo| Qilo] BE&stA =H FAFO
‘OIL"0l EAIED Buzzer S0| ZAMEIH Ol
o|Bzmstg &l Aldst 274 9t

=2 T

Setting instruction of digital timer

*Setting range
Interval time:1~2%h 59min
Discharge time:1~99 sec

* Discharge volume;
15MIC) : 15¢¢/min =0.25¢c/sec

1) Howto set the timer
MODE m : Starting set, Move, Finishing set.
FEED a: Numbersup
REST w : Numbers down
A If you press the button”m" one time, the
interval time mode begins blinking. " A"
button increases the numbers to set the
interval time and " w" decreases the
numbers. When it finished, press " m
"button again and the discharge volume
time mode blinking,” A"button leads to
increase numbers and "w " to
decrease the discharge time. Press again
the MODE " m" to exit the setting program.
B) If you don't press the button within 10
seconds, the timer recognizes the setting
time is ended and operates automatically.
C) Whenyou press " A"," w" button every one
time, every one number increases(decreases).

2) RESET function
When you push the "RESET" button during
the operation, the mode returns to starting set
mode.

3) FEED button( manual oiling]
If you press”"FEED"button during the
operation, the oil discharges regardless the
setting mode, also this button can be used to
remove the air in pipe or by manual.

4) Alarm of oil shortage(option)
When the oil is short, the window indicates
"OIL" with alarm buzzer sound to check
easily the oil shortage.

‘ pump for all, all for pump



Grease pumps
Manual type

AHGP - 700 Series

AHGP - 700

Pump Division

Hm 2z

= AHGP-T00H2 A8 45 J2iA Wz A 27| J2lA S0 8t
S 12K Sl (ARU-R EFR)TH Z85101 Of] 70| 20| Jt5
sict

m AHGP-700 type is small manual plunger grease pump and useful to
lubricate in short distance. It is possible to oil many points with single
line distributor (ARU-R type)

moZRfA, 20, Rl EEREL M MEP Al R A4S MDA S
857t i Eok

ko

m |t is easy to change the cartridge, and broadly used press, conveyor,
crane, special vehicles, ship, paper and various machine.

Discharge volume | Max’' Pressure Reservoir Out-let - Net Weight
Type =R sogre | soigm | oM | g FilingMethod
cc/st MPa cc = PT ST Kg
AHGP-700 1.0 1.5 700 #000~#2 1/8" Filling 1.2

B EEE &80

HZ 1A R& EETE MEE £+ AR o] ATk

= S0 WS Lat BEAEIOE E0f QUOLf Al &

OREoE MHA o

O =

T

MIA Al 2485 RQ6HOF Bttt

| POIM BB DS S50 242t 144 Qlott

sket SAE=

B ARE J2/A=NLGI No. #000 ~ #2 Hee| 7 Uzo| TJajatts

ASsHior eiT,

B CIE 572 2ot SE6I0 AR =M 2F =71t sleii3o

o5l A A0

=2 T

e

iy

wm 2%
a

=]
=

o002 E8510] MBSl A

AA

{015 F2|5MA Hotg7[¥ mE0| f2EEE 2
AN

External dimension &=

=t =0
Fajst gs

m The outlet is located either side viewing from in front of lever, but
located right side when it provides from original products.

m Even the reservoir material is strong plastic, and be careful when
cleaning by using thinner or chemical liquid.

m The grease grades should be used clear and good qualified grease

with in NLGI No. #000-#2.

m If the grease is mixed with different types, it can be stained or

occurred chemical reaction.

m Should avoid to pull strongly out or press the pump lever. It possibly
make pump broken.

(315)

PT 1/2%(06)
-~ OUTLET
@ Pump body
@ @ Grease tank
3-99.5 HOLES @ Tank cover
@ Lever
® Air vent
c O www.aryung.co.kr 50+ 51 I




Grease pumps

AGP - 720 Series

B AGP-72082 e&5710l 2l 2SEh= Ar 221 HIZM 7RI
ZEO| 2sh T2l EERF 3 s ZHHESIA| MofE 4= A Hiw
A #7250 MEoIch £5H 12 2HiEH (ARU-R EIR) ot =&st
O o2 7Hao| RE0| 7HsSICE

B AGP-720-CTE2 7|E2|X| wEkAl Al TJ2A HIZ M J2A S
Zloll 2 HAHZZO0| glom, wET 7| ZIERIX| uBE & £ Qe
M ZAE0|T Thist &g SXiE 2 ot

on
]

oA, 2K, 3Rl AEZI, ML MXP A X A4S AP
857t i< Eok

AGP - 720 F - CT

Pump division J

g2

Level swith (Option)
ZlIEA LR

No mark > None

F: Built in

Filihg of Grease

oAl
No mark : Refiling
CT :Cartridee

m The AGP-720 is a type of air grease pump operating by condensed air,
and can easily control the discharge - volume and pressure. This type
is used remote place to oil many location by combining single
distributor.

(ARU-R type).

m AGP-720-CT type is a cartridge pump and it is easy to change the
cartridge in a short time without stopping the machine working. The
cartridge type is more economic and clean surroundings.

m This pump is mainly used conveyor, crane, ship, paper, moulding and
various industrial machine.

cc/st MPa 0 a PT Seen Kg

AGP-720 0.4 15 20 #000 ~ #1 1/8" Filling 3.7
AGP-720F 0.4 15 2.0 #000 ~ #1 1/8" Filling 4.2
AGP-720-CT 0.4 15 0.7 #000 ~ #1 1/8" Cartridge 3.9

B 2 = AREI LAY USEZ BIEA] Ar unitE HXBI &
712l =28 H 20| E 4= U= oifiof sich

B AGP-720Seriesi= t2tA] JI2IA HIRA 1204 2HHH ARU-R Bt
2B ABE 4= QUCL

B 7| HHEE XN RHEEE SESE7| ol Air ventE S HIE AF
A7 A7 IS Bt & O2lAT7E LIQH Bkt HZ5H0F BiTE

B AE Grease= Lihum ZAIE2| NLGI No. #000 ~ 1 Q| 7R
St QFE0| Grease U2 AMESHOF SHCL

B TankQ| AEER 43t SEAECE o ULt Al H SeEA|0l=

Okt o enz Fa 2 MFA 24E5| F26H OF STt

x J2lh XY 7IER|X|(Cartridge) w2t 82 60HO0 K| &=

pump for all, all for pump

m This pump has a inner cylinder so have to install air unit to remove the
air moisture.

m AGP-720series is a kind of single line grease pump and used
combining ARU-R distributor.

m To pipe first, the air venting, working the pump, should be done
before assembling distributors and then combine the pipe.

m The using grease grades are Lithium, NLGI No. #000-1, and used
clearand good quality grease.

= Even the reservoir material is strong plastic, you should becareful to
clear or refill the tank after usage with thinner or other chemical
liquid.

% Refer the page 60 how to fill the gease and to exchange the
cartridge.



Grease pumps
Air Drive type

Discharge pressure EES2i=

Discharge volume EESqR2f

% The discharge rressure and voume are

(WPa) (cc/min) determined by the air pressure.
20 100 Air 0] o2t EEIHI ESR0| 2%
15 75 L] -':.;H:I‘

50
10 4
5 ] 25
o L 0

01 02 03 04 05 06 07 (W) @1 82 05 (G4 95 De A7

External dimension &=

@ Pump body
@ Air cylinder
B @ Cylinder body
2 | @ Grease tank
: . ® Air adjust bot
FILLNG PORT | ’} 8
PT 1/4° \ |
1 NII_ c[
o 1 2 @
ARy ] [} T ) (.
. OUTLET (PT 1,87 &

) _ @ Pump body
E @ Air cylinder
@ Cylinder body
@ Grease tank
® Air adjust bot
® Limit switch

236
296
395

FILLING PORT
PT 1/4

@ Pump body
@ Air cylinder
@ Cylinder body
@ Grease tank
® Air adjust bot

AIR_SUPPLY PORT
PT1/8"

‘-. LRt D S T
2 Ifl. L ; } \..gt
AR Ve 45| (77) | ms | |\ oumer (er 1/e)

o O mwamngnse 524 D3



Grease pumps

HPS Series

B HPSE2 FIEEX| wWE A8 XS J2|A HIZM Shge =
Multi sysem22 AKZ0| M2t SFEX(0ICE

B HPSH J2lA Hi= gR17{2|E2 8mVIX| B £ U 27| =7t
7ts5HH, Rl o238t YEHE HE & of 2t 7|AE HEKX|
UOME MXPt 7hsshH 7Sk T AIZI JBA FHERIXIE wEt
= g7 At

B JIER|X| mEkfAl JEA W= RHERI UiAlo] JEA S| sl &
HIZ0|2 of2 HejolH 7hRst StEg FXE & ot

B 2HiH2 ARU-R Etlot Zl6He t2] 7HAC| 20| 7HS5ICt

B 240, RtSAL 32!, Mt QAMP A, MAP|A|, HS7 (A, =27 |A
o B MDA S ZEZT iR HCL

HPS - Standard
Pump Division
Ho
Standard : 120cc
Mega : 240cc
Giga :480cc

m HPS type is a cartridge changeable, automatic, and used single or
multi point electro-mechanical lubricator.

m This type can be used remote location up to 8m from the lubricating
points and can avoid dangerous and difficult access ports. It is also
possible to change the cartridge in a short time without stopping the
machine working.

m The cartridge type is more economic and cleaner than refilling type.

m This type can lubricate many points assembling with ARU-R
distributor.

m This pump is mainly used conveyor, automobile, crane, ship, print
machine, paper, moulding and various industrial machine.

e Iziirgvg Dlscf;g(;\r/;ume Ma; l;r;j;‘ure NLE!\IO. Oiut%—l:tl Filli_r:i m‘fff q Netggght
cc cc/st MPa B PT stem Kg
Standard 120 0.63 25 #000~#1 1/4" Cartridge 0.7
Mega 240 0.63 2.5 #000~#1 1/4" Cartridge 0.72
Giga 480 0.63 2.5 #000~#1 1/4" Cartridge 0.8

B 2 AMZ2 25 O2A 15T S5 2k -25CIR| ES0| THsolch

B 2 HIE2 Microprocessorf| 28t &M XISA0 2 S22 LHE HTX|
2 AIEECE AFKIe 32 iie 2 =2 0| ARSIz 20|
HEEICL

B HPSY = W2 2E0M ASEIX|T YERe Rz 240cc FHERIX]
Ete2 OCOIM, 480cc 7IERIX| EILR2 +5°COM 71 &2 iR
HEpt EE0| 0|F0ZICE

B O H2 2E0M= S5 HHRIE ASsioleiH, Olifs J2lAE X2
ES AZsliofsict

B z7| W2 Ax)olE 22lA SE EHE = O2lA 745 03310 HY
il J2IAE 2| S26HOE Sk

B 39| AR Zst ZeAEloZ o] oLt Al H SEiEA =
oAEDE Ha 3 MAA| Zids| {0k BiCt

pump for all, all for pump

m HPS can pump the grease at temperature down to -15'C.lt is possible
to lubricate -25'C with special grease.

m This type is totally autonomous, the power is supplied by a battery
pack and consumption is very low, even under high pressure
conditions.

m The pump will empty a 240cc cartridge at a constant temperature of
0'C and a 480cc cartridge at +5'C even working at low temperature.

m For lower temperature, special battery packs and low temperature
greases are available.

m For the first operation the grease filling pump should be used or filled
fullyin the grease inside pipe with grease gun.

m Even the reservoir material is strengthen plastic, you should be
careful to clear or refill the tank after usage with thinner or other
chemical liquid.



MEMO setting &2f =& M MIE

TATAT, V)

WORKING
PRINCIPAL

Hilec REFLACEABLE ER

PROOUCT CARTRIDGE

&
POWERPACK

QPTIONAL STROKE H
REGLULATING WASHERS: (07| e 1
0= il aireten mEMg
T = rrininen ginckn 03560

Sfnoii neduc on DLUoeiwashar

E$§ \k*-ﬂmoﬂ RETURN WALVE

ATTIVATING PING

TIKIMG RINGS

The MEMO (Time &3 Kit)

Time Setting &M%

o= & 0f
2| Sk 22 Bict,

-

nx oM

O|AEC| SrokeE
TERINME E8 &+ Tt 0|42
MEMO®| RE&EH HARITISHH
oIk MEMOZE ZERIA 10| Al
2= = 1Srokedl 0635cc7t

ES=GIAC
[e]]

EEn|n, ZERIME oM AL

2 Wolk= 004cc st =
HME A =M 004cc S
71elct,

FEREAME= F(H 770 VIX| At
80| 75ttt

MEMO 22 HPS pumpol &
Ao|o] YUY LUERe| Jr|AE

0l FAE g TS BREiE

s
°§F
H'
lo
&2
N
w“f
_\I
é
)'U

BARX|E AHE FRAR 58
RIS oA €20| 7(oB
s Zetoirt

Ay e Zicisla AlZIE @
2 22| pert,

. Daily Discharge Months to Ei 24
Rings Strokes/Day I{//0 Iume g S 02 10 Mmpty Af%j”;
(Color) AP QlolE = oat andar ega iga
SET ST (120cc) | (240cc) | (480cc)
RBW 2% 15.1 0.25 05 1 B :Black ring
W : White ring
RB 4 25 15 3 6
R 2 13 %) b 12 X Timeddd Kit 2ol 280l <fsl &
o] XF AE 7 J-36}7“ HEE £
BW 15 10 4 8 16 oIt
w 1 0.6 6 12 2% _ _ _
% The time setting can be easily
B 0.5 03 12 24 - combined by ring color.
o O www.aryung.co.kr 54+ bb —

HE = MEMO 2|

m The MEMO adapter is made
bronze and used to lengthen the
pump cylinder.

| |t can fit controlling washer to
adjust piston stroke. If it used
without controlling washer, one
stroke discharges 0.635cc.

When setting the controlling
wash, the discharge volume
decreases 0.04cc, If the wash is
pulled out, the discharge volume
increases 0.04cc.

m The controlling washer can be
set maximum 7 pieces.

= The MEMO is a unique system
for adjusting the daily grease
output of HPS pump.

= The MEMO is programmed the
first time and is then
permanently fitted on the
lubrication points.

® Maintenance personnel need
not to remember at each
intervention what setting is
necessary and organization is
simplified.

m Programming the MEMO is
simple and takes little time.



MEMOLUB Cartridge type
@

B85S
. |
-
|
# -
=
Type A L TL | Reservoir
.'I < f] ql 1—.'.' Aar 4.
oy | [ 15 = _ Standard | 31 | 102 | 133 2
OUTLET '\ " OUTLET{} - PF i OUTLET : "
(G A P NEE U LN AL Mega | 31 | 120 | 165 4
2110 2110 2110
Giga 31 | 214 | 246 2
DIRECT REMOTE 2 POINT 4 POINT & POINT & POINT
LUBRICATION LUBRICATION LUBRICATION LUBRICATION LUBRICATION LUBRICATION

2

@?ﬁiﬂ

MEMOLUIB®

can be used up

to & lubwrication
points
JOi

 J2lA 7 Y FIERX| wEt 2HHS 61 HOK] &I,
_‘_ﬁ % Refer the page 61 how to fil the gease and to exchange the cartridge.

. pump for all, all for pump




ARU - R Series

B ARU-RE2 12k F2lA BHIHOIH HIolM ESE J2AS UERE

ARSI 2t =&Y

a0 &xe=2 55 itt

ARU - 4R

Division of point
e —
4R : 4Point

6R : 6Foint

8R : 8Foint

10R : 10Point
12R : 12Point

Limit switch (Option)
2|0[E ALK MEY
M : Built=h

No mark : None

B The ARU-R type is a single line grease distributor which

measures accurat amount of grease discharged from pump and

B 2HEHO| 1AIDEE SAIE 2SI = XIAZ0] 18] HMFE6HH o=
S8 EET1O| HiZ0|2t: US| =l 2HEHO| AiSoiX| p2es= ofet

FEE YA KRR Eelt 2710

it supplies oil to each ports in order.
B When distributor completes 1 cycle, the ndicator moves back and
forth one time. f any one of pipe is blocked, the distributor

B ARU-R-M 2 Limt ASKIZH 22 2 2HiHo 2 ZHliHo| 255 ALO| doesnt work, So any probkems can be detected immedately.
22 JLEZGIH 014 (RS X =7t CH B The ARU-R-M type has a limit switch and can check the
B AE2E -20C~70TC operafon by montorng
B Temperature range: —20C~70C
s e Discharge Min. Max. Ceptral Brgnch NLGI N'eth
Tvoe oint volume pressure pressure pipe pipe No weight
» S ezt Axgta | Almete | FyE | xR | O w2
En cc/min MPa MPa PF PF == kg
ARU-4R 4 03 15 15 1/4" 1/8" #000-#1 0.4
ARU-6R 6 0.3 1.5 15 1/4" 1/8" #000-#1 0.64
ARU-8R 8 0.3 15 15 1/4" 1/8" #000-#1 0.64
ARU-10R 10 0.3 15 15 1/8" 1/8" #000-#1 0.72
ARU-12R 12 0.3 15 15 1/8" 1/8" #000-#1 0.72
Assistant metal fittings X2+
AU-16 AU-26
-. o A
P ’:_r 1 . (: i I,
= N 1 i [
i . H 15 . M 1

2 AlSotaXxt g oul
AtZsHorFetct ofuHe

Lk
[=]
E

AU-26
% ARU-RY RHIAZ Aoz 2EaE 7122 2Rl EE7E &+

S ESTE Ojopds olei VISA| HASTS

S22 2817t =ick

% ARU-R type llricates in order by even number holes .
need 1o use the hole h odd number, one hole

f you
should be

blocked wih the assisiant fithglAU-16, 26) and the discharging
volume increases two times.

O

\—4

O mwomngease 5t O]



Progressive single line

External dimension &=

52 2—¢7 HOLES
9 ki
‘q_' E
1| = 0O
—= | WO
@...
in gL
ima
45
59
2—97 HOLES
3 e —
< e
| =f| 09 [Tp)
)| Wl [{e]
[ ARU=R-M (Linit swich option) " "
PF 1/8" 52 53
(OUTLET) \ 45 2-97 HOLES 1515 [ 10
=N e |
R i jenrse
NNl
3
==

. pump for all, all for pump




Grease pumps

Accessories

12

Bracket — 2 (Brush

.; W i
)
% S

TRELeRTT

. 453
T
=

B0
2

[
&
@

D265 85
=—
-]

Grease Cartridge

NLGI No. Standard Mega Giga AGP
#000~#2 120cc 240cc 480cc 700cc
% QlH

ZET! olA} & = T 22| ohAl2.
% This cartridge s generally flled with standard Lithium grease.  you need
to fill other grease, you should ask the posshility to he seler of grease.

AUROZ |ihium AL #& J2hIt 2 C0 UeH, B AlR| J2lAS

o
- Ref. No. L1 L2 L3 L4 T1 T2 @D1
" SO-1/4K 8 8 10 22 | M12x1.0p | PF1/4" | 45
T2
Adaptor
Ref. No. L1 | L2 | L3 L4 T T2 Hex | Material
RD-1/4K | 95 | 75 |165| 32 |M14x20p| PT1/4" | 21 | BsBD3
|_i

o O wmammaaic 584+ 99—




Grease pumps

The flushing and operation HiZt M& & AIRX

© iz S EHHO| Hit MXp| 2heclH HE HE| Q= T2l B3

—_ . pump for all, all for pump

X
port0fl EF WHFiling Fump) = d2lA 712 AKESIH AirZF &

UZR| U= RO FH ASITIX| J2AS SXbl 4L,

1)

AT ¥
Ar —

mo = Mo re

i ol
1

ol

il SHHHOY X|EAQI Tg0| el = USLITH)

St 42 gR70l HiZ A& 22 Higt 21| 1

2|AS EH5| HIE AlZl & SF7R SE6l AL,

Grease filling method J2|A S HitH

o 0| Q7S T IRAE IR DHAlR, 0| % TS

g JRAS EA| 2 TR0 7|20t BiREl0] EEERC| #eD|
L

® 7I=RIR((Cartidge TypolEte) TRiA Em= Jalart S50 Fher)
Rig mE YA

® Release the cartridge cap
and push slightly the
cartridge bottom until
grease comes up the cap
entrance.

BEAIS Wele pix| S HIZ YEOA Sz Zide)
27 S Rl HES SENA TN 12AS S5
HEAIZ4 HHRLISIS 40| MIRiEt B ChA| SRttt 5zssict, (s
S M7 3 Flushing K| 22 EIe BiELel oS ol o

® After installing the pump, the grease should be filled until upper
limit line by AFP-H filling pump or grease gun at filling port in front
of pump.

® The method of flushing of main pipe follows, firstly separate the
connector part in front of distributor from pump and clean the inner
pipe by grease put out,and reassembling.If it doesn't clean the pipe
occasionally, it makes critically trouble)

@ In case of connecting lubricating pipe,it should avoid to connect
directly. It is proper to assemble after filling the grease at the end of
pipe.

® When you fill the grease in reservoir, the filling port in left side of
pump should be used by filling pump.

® The grease have to be filled until upper limit line.

@ Don'tfill the grease by tank cap.If it does, the grease can contain the
airand causes flowing problem.

@ The cartridge type should exchange with the grease contained.

o FHERIR| HES A Lo
M A7t 2eEiR) e
I lofot Zetsict

® Combine cartridge with
pump body not containing
air along with pushing the
cartridge bottom.

The superiority ofr cartridge type 7ZIE2IX[Q| ™

® T2lA THEZIO) MHE X|MES HIRIF0] glen, FIER|X| wele
2T A B~ A, ZHE0|2 THREE BtEE R 4= At

o UnE7|=A 27t F20| glof kx| 9T 2ot vl |2 K|
SIX| Q0= F7R AISE % .

@ It can avoid dirty and complicated working by refilling the grease.
Also it is so easy exchange of cartridge that can economical and
clean environment.

@ It keeps good quality of original grease without exposing the air and
uses long time because it doesn't separate with soap.




HPS Change the cartridge 7tE2IX|

wEt HiH

At

How to change the cartridge (HFS Xts J2lA = Of2ie| Ot 22 =A2 FIER|X|E waleltt)

(D Transparent o2 |1 XIJA| 210
Lock fingS Al7 girHigtoz =alH
Cartridge?} £2[FcH

(@ Push the housing and turn the lock ring

to the counter clockwise direction to
remove the cartridge.

@ 2leo| FaA FIERIX| WERIXIE 7|2

Ck

rOI! iL|

@Record the change date of cartridge on
the label.

@ Transparent housng0ll AZEE x|
St Pump2t ZE6iCt

@Assemble the housing with pump after
setting the spring.

Stog| Hs

(@Set the battery into the battery pack
according to the direction mark printed
correctly (+,- marks)

2SOE hT FIER|X| FHES A

- %
=8 2 HEPX| J2AT) LIREE

BRelease the cartridge cap and push

slightly the cartridge bottom until
grease comes up the cap entrance.

® Transparent houshg $IS XA =2

1 lock rngg AlA Wao=z =21H
Cartidge?} Z2&=Ct,

®Push the housing and turn the lock ring

to the clockwise direction to fix the
cartridge.

Q@Pump 2120l Grease gun= O|Est
* GreaseS FUSICE

(@Fill the grease through the pump inlet
by the grease gun.

©7IERIR| HEBS M S2HA AVtE
QUS| Q= W 210F10t

®Combine cartridge with pump body not
containing air along with pushing the
cartridge bottom.

Q@Pump OliZe| 37Hel AQK| = 1715
=2 Pump?t SAE=XE 2016t &
2HiH L= 2t

HE i

©Push one of the bottom switches and
check the pump operation and then
connect distributor or pipe.

O mmanscase 60+ O]



MEMO




MEMO




MEMO




MEMO




MEMO




olso] eATH!!

A-RYUNG The leading (pump) manufacturer in Korea.

A-RYUNG joins the development of Korean machine tools.

1976

1980.

1982.

1982.

1987.

1992

1993.

1999.

1619,

2000.

2000.

017 &5 A

Egablished as A RYUNG Mechirery Industry Co. Lid.

ABEXE Qi pump MESH X XA No 79-18)

Desigreled lechnical manulecturer o ol pump by the Minisry o Trade
and Induslry.

—ohst AR SPIANXIE &7 |ATISSES No 8208
Designated as an “Approved Company o Syslemalization of Small &
Medium Industry” by the Minisiry of Trade end Industry.

BT CHEZEE =4 (No. 54708)

Awarded he Kora Presidenial Ciation for an “Excellent Small & Medium
Enlerprise”

=T ANE S eRINE 282l A (No 87-1045)

Awarded “Excellent cormpany for domeslic machine development’ by the
Deputy Prime Minister,

AEAME S=20 =4 EAE

Awarded Sef-Contral company for Natioral Tax' by National Tax Office.
SHRIAE == MY A (CHBIRHATISZA)

Awarded an “Bxparl Indusiry Prize lor Overseas Markd” by the Korea
Trade Cenler. (KOTRA)

CE REUaiZ 245 (UV Rreirand)

Auhorized Conformity EC' declaration by TUV Rheinland.

EM 7AR SEAT 22EE7 2 256 7R EH No 1999-039%)
Oblaining Certificalion for BM Machinery, Spare parts by Korea Technique
Stendard Associdion.

ISO 9001 BRBIAIAE CIF (KSA)

Oblaining the IS0 9001 Certiication by the KSA-QA supported by IQ-NET.
‘CSA-c-us' 0|2 ¥ FHLiTH QHET 2 Q1F (CSA INTERNATIONAL
Oblaired he CSA ¢ us' mark, Americen Cenadien Sdely Slandard by
CSA INTERNATIONAL

TEIE MRS AEA HE (No47955)

Awarded ‘The prize of at-developing Company” by Minigry of Trade
and [rdusry.

2003 1

2003 12

2004. 1

2005, 12

2006, 12

2007. 4

2007. 9

2007.10

2007.10

2008 4

2008 5

2009, 2

2010 .11

s iiie |

BT

L]

SIS ZAET B2 MAEEER HA A (No 54163).

Awerded Prze o Trade Pomalion and Indusliial Developmen” from Ministry of
Trade and Industry

=35 MefHEXIA EE (No.1421)

Awarded Prize of excellent BExporter’ by Jeonnam Province.

SK| HO M2 OIE7 [SCH) F8EAN

Opened China office in Dalian named ‘A Ryung Delien Co, Lid”

BEZ AL Z2 Z2E2M ZE (No1337402)

Awarded Honor of machine development by The Prime Minister.

SOl 7| 1008 =E=E A

Prized “1 Million Tower of Expori’ celebraling Nalional Trade Day

7| R AT M

Egablished Research & Development Center’

MAN-BIZ'(BHSIM Z47 1201

Oblained Main-Biz" (management innovalion in small & micium Co)
MEFPPM RIBFIS

Oblained Certiicale of Single PPM'

NNO-BIZ" (T |=Sihd S47 (12015 AMESF

Oblained ‘Inno—biz” ( menagement imivalion in small & midium Co) “"AA Grade”
RIA ST |HOIA 48

CEO proud of small and midium sized enlerprize award

SENMASE A

awarded bronze tower o industry from minigry of public administration
and securily

NRTL £0] 2R 215 2=

Obtained “NRTL" Cerlificate.

AN EEXM ZE 1S (0.75kW 0[4f)

Motorimore than 075kw) based on minirum erergy efficiency Korean
policy will be released in 2011



Z¥ A-RYUNG MACHINERY

Head office & Factory
81-1, Daegok-ri, Keumseong-myun,
amyang-gun, Jeonnam, Korea

M HUE SdH =2 681-1

TEL : ++82-61-380-2200

FAX: ++82-61-382-3094

~ URL : http:/Aww.aryung.co.kr

- Email : aryung(@aryung.co.kr

~_CHINA Branch office & Factory

24, #9Tieshan East 3road Central Industrial District
_ Economic Development Zone Dalian City China
- TEL:++82-411-8734-6601~4

" FAX:++86-411-8734-6605
'URL : http:/Aww.aryung.co.kr

J m Branch office

44 Shinmachi Ueda-shi Nagano-ken 386 - 1434 Japan
TEL : +81-268-71-5220, +81-268-38-4119
FAX: +81-268-38-4165

URL : http://www.aryung.jp

E-mail : k-nakazawa(@aryung.jp






